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IDENTIFICATION

PRODUCT CODE: AC-T&37A-MC

PRODUCT NAME: CNDUQAO DUV11 OFLNE LGC TSTS
PRODUCT DATE: DEC , 1982

MAINTAINER: DIAGNOSTIC SERVICES/ISS
AUTHOR: J.CARMODY

COPYRIGHT (C) 1982,1983 BY DIGITAL EQUIPMENT CORPORATION

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
THAT MAY APPEAR IN THIS DOCUMENT.

NO RESPONSIBILITY IS ASSUMED FOR THE USE OR RELIABILTY OF SOF TWARE

ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL OR ITS AFFILIATED

COMPANIES.

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:

DIGITAL PDP UNIBUS MASSBUS

DEC DECUS DECTAPE
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+REM
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SEQ 0001
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GENERAL DESCRIPTION

THIS DIAGNCSTIC CAN CHAIN 16 DUV11°'S. THIS MEANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC
MAKES ONE PASS BEFORE PROCEEDING TO THE NEXT DEVICE,

AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

THE DUV11 OFFLINE LOGI
+AND ALL RESPECTIVE Bl
WRITTEN AND/OR READ/WR

C TESTS VERIFY THAT ALL REGISTERS EXIST
}% EAN BE MASTER CLEARED, READ,

REQUIREMENTS

PDP=11/21 COMPUTER (LSI)

DUVI1 SYNCRONOUS/ISOCRONOUS OPTION
ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUYEOSOADER

4K

8K 037500
12K 057500
16K 077500
20K 117500
24K 137500
28K 157500

STARTING PROCEDURE

CONTROL SWITCH SETTINGS

NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU AT ADDRESS
176. THESE HAV SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 1

NOTE: RUNNING UNDER APT-11, THERE SER SWITCH REGISTER

IS AU
CALLED *'SUSWR''. IN ORDER TO Eg ;LEXIBLE ON THE AVAILIBILITY OF THE

H315 CONNECTOR, ONE BIT PASSES STATUS ro APT-11,
BIT 0 IN SUSWR REFLECTS THIS STATUS, A 0 = CONNECTOR
PRESENT, A 1 = CONNECTOR NOT AVAILIBLE.

.REM

-REM

SEQ 0002
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THE USER CHANGES THE CONTENTS OF THIS LOCATION
WHEN BUILDING THE E TABLE, BY ANSWERING THE
PROMPT “‘SWITCH 2.

AFTER PROGRAM LOAD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SW00=1
TO START PROGRAM AT SELECTED TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)
SWwo1=1
TO LOCK ON SELECTED TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)
SWié=1 .
NOTE1: IN GENERAL SWO1 WILL BE USED WHEN SW14=1 IS USED
NOTE2: WITHOUT SWO1=1 °LOCK ON TEST'* WILL DEFAULT TO TEST 1
STARTING ADDRESS
THE STARTING ADDRESS FOR ALL TESTS IS 000200
THE MFTARTING ADDRESS FOR ALL TESTS IS 000200
THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARIING ADDRESS TO LOCK ON TEST IS 000200
PkOGRAM AND/OR OPERATOR ACTION
INITIAL PROGRAM START
4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4.3.1.2 SET SWITCH REGISTER (LOC. 176) TO ZERO.
4.3.1.3 TYPE 2006.

4.3.1.4 PROGRAM WILL START.

4.3.1.5 THE PROGRAM WILL TYPE "DUV11 CZDUQ=C TAPE A" (ONCE ONLY)
4.3.1.6 THE PROGRAM WILL TYPE 'R TO INPICATE THAT IT IS ABOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE 'R'* AND WILL COMMENCE TESTING
PROGRAM RESTART WITH SW00=1

«REM

SEQ 0003
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4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001.
4.3.3.2 TYPE 2006.
4.3.3.3 PROGRAM WILL START.

4.3.3.4 THE PROGRAM WILL TYPE *' 1ST DEVICE: RECEIVER CONTROL REGISTER

ADDRESS'* AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.5 TYPE IN THE ADDRESS OF THE FIRST RECEIVER CONTROL

REGISTER ADDRESS OF THE DUV11 TO BE TESTED
FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ADDRESS IS TYPED THE PROGRAM WILL TYPE ‘"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE ‘‘VECTOR ADDRESS='" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED THE PROGRAM WILL TYPE '"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE ''ARE YOU RUNNING MULTIPLE DEVICES ?*'
(Y OR N)="' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN, THE pnocm WILL TYPE "
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.8

IF A *NO'* ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "'YES'' ANSWER IS GIVEN:THE NEXT QUESTION IS ASKED

4.3.3.10 THE PROGRAM WILL TYPE °‘LAST DEVICE:RECEIVER CONTROL

REGISTER ADDRESS='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.5.3.11 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '“?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

4.3.3.11.1 IF AN *OUT OF RANGE'' ADDRESS IS TYPED
1E. MORE THAN 16 (10) DEVICES AWAY (UPWARDS)...

. .'"E
PROGRAM WILL TYPE ‘OUT OF RANGE:RETYBE LAST DEVICE RXCSR ADDRESS=-'

SEQ 0004
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AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ‘"?'*
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

IF A DEVICE ADDRESS LOWER THAN 1ST DEVICE ADDRESS IS TYPED...cocceces
ess+SCHOOLS OUT.........THERE IS NO PROTECTION FOR THIS.

THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FROM

1ST DEVICE ADDRESS).THE SAME APPLIES TO IDENTICAL ADDRESSES

TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ ACTREG: SEE SECTION 7.2

4.3.3.12 THE PROGRAM WILL TYPE '# OF SYNC CHARS
SELECTED (1 OR 2)="' AND WAIT FOR AN INPUT FROM THE TELETYPE
§5}?23Rg§5.zEFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

4.3.3.13 TYPE IN THE APPROPRIATE ANSWER °‘‘1'* OR °'2'* FOLLOWED
gg ?Hécg::é96£ RETURN>. (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE **?**
AND WILL REPEAT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE °' IS SEC XMIT SWITCH E55-2 ON? (Y OR N)='’
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4£.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>.(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?**
AND WILL REPEAT THE MESSAGE OF 4.3.3.14

4.3.3.16 THE PROGRAM WILL TYPE "'IS SEC REC SWITCH E55-3 ON?
(Y OR N)='* AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>, (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE **?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

4.3.3.18 THE PROGRAM WILL TYPE IS OPT CLR ENABLE SWITCH
E55=1 ON? (Y OR N)='* AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

—— e ——— ——

SEQ 0005
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BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE °'?"*
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE °‘ARE YOU RUNNING IN MAINT.
MODE EXTERNAL 2 AND ......DO YOU HAVE THE EXTERNAL MODEM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)='" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY
A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ‘"2
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRAM WILL TYPE 'R'' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

PROGRAM RESTART WITH SW01=1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

coo1T WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,

ggg 25%5%7 SW00=1 AND ANSWER ‘NO'‘' TO THE MULTIPLE DEVICE QUESTION
4.3.4.1 SET SWO1=1 IN SWITCH REG (LOC. 176)

‘.3.4.2 IVPE 2006.

4.3.4.5 PROGRAM WILL START.

4.3.4.4 THE PROGRAM WILL TYPE °'‘TEST PC='" AND WAIT FOR AN INPUT FROM
THE TELETYPE XEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE 'R'' TO INDICATE THAT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
.SINCE THERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS
THAT IS IN THE MIDDLE OF A TEST

PROGRAM RESTART WITH SW14 =1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

SEE NOTE IN 4.3.4 FOR MORE DETAILS

4.3.5.1 SET SW14=1 [N SWITCH REG. (LOC. 176)

4.3.5.2 TYPE 2006.

SEQ@ 0006
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4.3.5.3 PROGRAM WILL START.

4.3.5.4 THE PROGRAM WILL TYPE 'LOCK ON SELECTED TEST ? (Y OR N)="
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR Nu FOLLOWED BY A
<CARRIAGE RETURN>

IF A NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE °R'' TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1

4.3.5.6 IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE _PROGRAM WILL TYPE 'R’ TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWO1 =1 IT
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

OPERATING PROCEDURE

OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC. 176).
SW15 = HALT ON ERR

SW14 '1 LOOP ON CURRENT TEST

sWi3 = INHIBIT ERROR _TYPEOUT

sSWwil =1 INHIBIT ITERATIONS

SWw10 =1 ESCAPE TO NEXT TEST ON ERROR

SWo9 =1 LOOP ON ERROR

sSwo1 =1 RESTART PROGRAM AT SELECTED TEST

SWwo0 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES

EPARAMETERS AFTER A PROGRAM RESTART
TO INHIBIT "END OF PASS'' TYPEOUT = TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER LSI ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)
THERE ARE FOUR DISTINCT ERROR TYPEOUTS

PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE "HLT'' IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS @ RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 REGISTER _ERROR PC

REGISTER EXPECTED ACTUAL

1XXXXX YYyyyy 222112

WHERE 1XXXXX IS THE ADDRESS OF THE FAILING DEVICE REGISTER

WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

SEQ 0007
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WHERE 222227 IS THE ACTUAL CONTENTS OF THAT REGISTER

PC +2 = RECEIVER_ERROR PC
REGISTER EXPECTED ACTUAL
TXXXXX YYYYYY 1721121

WHERE 1XXXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER

WHERE 222222 IS THE ACTUAL DATA CONTENTS OF THAT REGISTER
REGISTER NSHIT T e TED" T ACTUAL

1XXXXX YYYYYY 211211

WHERE 1XXXXX IS THE ADDRESS OF THE FAILING TRANSMITTER (TXCST) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

WHERE 222222 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

Sw15 =0
IF THE PROGRAM IS RUN WITH SW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW15 =1

IF _THE PROGRAM IS RUN WITH SW15 =1 ,TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED .PRESS  THE PROCESSOR
CONSOLE "‘CONTINUE SWITCH"

NOTE: THE PC + 2 OF THE 'HLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE ADDRESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR.

ADDITIONAL TROUBLESHOOTING AIDS ERRCNT: & PASCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL # OF ERRORS AND rASSES RESPECTIVELY.

LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

D OF PASS ROUTINE
I? TYPEQUT !S HENTIONED HERE FOR CONVENIENCE

EN
TH
IT IS IN THE F

SEQ 0008 |
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END OF PASS TAPE Y
1XXXXX = DEVICE

WHERE Y IS THE TAPE LOADED

WHERE 1XXXXX IS THE DEVICE'S BASE REGISTER ADDRESS
TO INKIBIT THIS TYPEOUT = TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE ‘7ZERO: _ ADD _ #10,BASEIV ;NEXT BLOCK
(VECTORS)'* TO “'ZERO: _ ADD  #0,BASEIV'":

THEREBY THE VECTOR ADDRESSES WILL NOT BE

UPDATED AFTER EACH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST 1IE. BIT 0 FOR
DEVICE 0 ,BIT 15 FOR DEVICE 15

TO DISQUALIFY DEVICES:

IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWO0 =1 AND OMIT THE FIRST DEVICE.

IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...TYPE 2006...
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 ve.0.2..0R .....SET SWO0=1 IN SWITCH REG (LOC. 176) AND TYPE 200G....
ANSWER THE QUESTION :1ST DEVICE : ETC..cccecenes
«++.THE PROGRAM WILL CONTINUE WITH DEVICE 0

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE __THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE.......TYPE 200G.

CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,

LOCATION "WOLD:'* MUST BE MODIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY “HOLD:'' =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIA DRIVERS

TO USE THE 'XOR'* TESTER ,THE BRANCH AROUND THE ‘‘XOR"’

SEQ 0009

— D R C——— ————————— ————
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CODE MUST BE PATCHED TO A "NOP'‘. (SEE LISTINGS FOR DETAILS)

DEFAULT PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= RXCSR: 174300

VECTOR ADDRESS=- DURIV: 330
ARE YOU RUNNING MULTIPLE DEVICES ?= NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= LASTADD: 0
# OF SYNC CHARS SELECTED - 2 SYNCNO: 377

IS SEC XMIT SWITCH ES55-2 ON?- YES SEXMIT: 377

IS SEC REC SWITCH E55-3 ON?- YES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-1 ON?= YES OPTCLR: 377

DO YOU HAVE THE_EXTERNAL MODEM BYPASS JUMPER
CONNECTOR ON (H315)= VYES JMRBY: 377

PROGRAM DESCRIPTION

-REM
THIS PROGRAM PERFORMS THE OFFLINE LOGIC BIT BANGING
OF THE DEVICE
SEE LISTING FOR DETAILS »

-REM

FLOW CHARTS: RECEIVER FLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW
CHANGE HISTORY

NOTE: HISTORY BEGINS WITH REV. CO

REV. CO: 1) ALLOW OPERATOR TO SPECIFY ADDRESS > 170000
2) INCREASE DELAY VALUE ‘'HOLD'‘ TO_COMPENSATE
FOR 11/23 EXECUTION TIMC (FROM 3777 TO 6200)

CNDUQAO

IN ORDER TO BE SPECIFIC TO SBC 11/21 PROCESSOR, REV CO

WAS MODIFIED TO INCLUDE CHANGES FOR PRIORITY 6 INSTEAD OF 7
AND DEFAULT CSR AND VECTOR ADDRESSES AND ALSO .INIT CALL

TO CNMAC2.SML INCLUDED AT THE END TO INITIALIZE 11/21
E?ggizég VECTORS. THE DIAGNOSTIC WAS RENAMED TO CNDUQAO.

SEQ 0010

S e S— TSIt~
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6598
6599
6600
6611
6625
6626
6627
6688
6689
6894
7022
7?%? .SBTTL APT COMMUNICATIONS ROUTINE
(2) R 2222333333333 3 3332332323323 2323333333333 3333333333333 22333 323327
(1) 000000 112767 000001 000236 $ATY1: MOVB  #1,SFFLG ::TO REPORT FATAL ERROR
(1) 000006 112767 000001 000226 S$ATY3: MOVB  #1.$MFLG ::TO TYPE A MESSAGE
(1) 000014 000403 BR $SATYC
(1) 000016 112767 000001 000220 $ATY4: MOVB  #1,$FFLG ::TO ONLY REPORT FATAL ERROR
(1) 000024 $ATYC: _
(3) 000024 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 000026 010146 MOV R1,=(SP) ::PUSH R1 ON STACK
(1) 000030 105767 000206 TSTB  SMFLG :3SHOULD TYPE A MESSAGE?
(1) 000034 001450 BEQ 58 ;IF NOT: BR
(1) 000036 122767 000001 001502 CMPB  #APTENV,SENV ..OPERATING UNDER APT?
(1) 000044 001031 BNE 3 :IF NOT: BR
(1) 000046 132767 000100 001473 BITB  #APTSPOOL,SENVM ..SHOULD SPOOL MESSAGES?
(1) 000054 001425 BEQ 3$ BR
(1) 000056 017600 000004 MOV 34 (SP) RO ..GET HESSAGE ADDR.
(1) 000062 062766 000002 000004 ADD #2.4(SP) BUMP RETURN ADDR.
(1) 000070 005767 001432 18: TST $MSGTYPE ::SEE IF *BONE W/ LAST XMISSION?
(1) 000074 001375 BNE 1% ::IF NOT: WAIT
(1) 000076 010067 001440 MOV RO, SMSGAD
(1) - :PUT ADDR IN MAILBOX
(1) 000102 105720 28: TSTB  (RO)+ ::FIND END OF MESSAGE
(1) 000104 001376 BNE 2$
(1) 000106 166700 001430 SUB $MSGAD, RO ;:SUB START OF MESSAGE
(1) 000112 006200 ASR RO ::GET MESSAGE LNGTH IN WORDS
(1) 000114 010067 001424 MOV RO, SMSGLGT ::PUT LENGTH IN MAILBOX
(1) 000120 012767 000004 001400 MOV #4,$SMSGTYPE ::TELL APT TO TAKE MSG.
(1) 000126 000413 BR 5
(1) 000130 017667 000004 000016 3$: MOV 34 (SP) 48 :;PUT MSG ADDR IN JSR LINKAGE
(1) 000136 062766 000002 000004 ADD #2,4(SP) :BUMP RETURN ADDRESS
(3) 000144 016746 177626 MOV 177776,=(SP) ”mw1?nemsua
(1) 000150 004767 012666 JSR PC,STYPE ::CALL TYPE MACRO
(1) 000154 00 4$: .WORD
(1) 000156 5$:
(1 ooo1sg 105767 000062 108: TSTB  SFFLG :.SHOULD REPORT FATAL ERROR?
(1) 000162 00141 BEQ 12% ::IF NOT: BR
(1) 000164 005767 001356 TST SENV : RUNNING UNDER APT?
(1) 000170 001413 BEQ 12% ::IF NOT: BR
(1) 000172 005767 001330 118:  TST $MSGTYPE : :F INISHED LASI MESSAGE?
(1) 000176 001375 BNE 11$ ::IF NOT: WAIT
(1) 000200 017667 000004 001322 MOV 34 (SP) ,SFATAL  ::GET ennon #
(1) 000206 062766 000002 000004 ADD #2,4(5P) BUMP RETURN ADDR.
(1) 000214 005267 001306 INC $MSGTYPE ;s TELL APT TO TAKE ERROR

.~
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105067 000020
105067 000013
105067 000006
012601
012600
000207

000

000
000246
000200
000001
000100
000040
000001
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APT COMMUNICATIONS ROUTINE

12%: CLRB
CLRB
CLRB
MOV
MOV
RTS

$MFLG: .BYTE

SLFLG: .BYTE

$FFLG: .BYTE

+EVEN
APTS12E=200
APTENV=001
APTSPOOL=100
APTCSUP=040
$TN=1

$FFLG
SLFLG
$MFLG
(SP)+,R1
(SP)+,RO

(=1=ly )
(]

: :LOG FLAG

(=

::CLEAR FATAL FLAG
ssCLEAR LOG FLAG
ssCLEAR MESSAGE FLAG
::POP STACK INTO R1
:2POP STACK INTO RO
2 sRETURN

ssMESSG. FLAG

ssFATAL FLAG

———— — e . ——— - e S St g

SEQ 0012
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1

SEQ 0013
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MACY11 30(1046)
30-0CT-82 12:1

001100

000200
177776

177774

177570
170000

B 2
APT COMMUNICATIONS ROUTINE
.ENABLE ABS

;CNDUQ-AO DUVI1 TAPE A
sCOPYRIGHT 1977,1980, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

sSTARTING PROCEDURE
s TYPE 2006

:PROGRAM WILL TYPE ''CNDUQ-AO DUV11 TAPE A **

:PROGRAM WILL TYPE *R'* TO INDICATE THAT TESTING HAS STARTED
;AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PASS TAPE A"’
:AND THEN RESUME TESTING

.SBTTL BASIC DEFINITIONS
'INITIA%1680RESS OF THE STACK POINTER w*+% 1100 w#«

STACK=

.EQUIV EMT,ERROR ;:BASIC DEFINITION OF ERROR CALL
.EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
tnlSCELLANEOUS DEF INITIONS

HT= 11 ;:CODE FOR HORIZONTAL TAB

LF= 12 :CODE FOR LINE FEED

14-DEC-82 09:56 PAGE 62

CR= 15 :CODE FOR CARRIAGE RETURN
CRLF= 200 ..CODE FOR CARRIAGE RETURN=-LINE FEED
PS= 177776 : sPROCESSOR STATUS WORD

.EQUIV PS,PSW
STKLMT= 177774

:2STACK LIMIT REGISTER
PIRQ= 17777

 :PROGRAM INTERRUPT REQUES! REGISTER
DSWR= 17757 : HARDWARE SWITCH REGISTER

DDISP= 177570 : SHARDWARE DISPLAY REGISTER
0;;;;. ;HsosgLLOUING 00* START ADDRESS FOR SBC 11/21 IS ADDED
: *GENERAL PURPOSE REGISTER DEF INITIONS

0= 20 ..GE ERAL REGISTER

R1= 3] :GENERAL REGISTER
R2= 1 ::GENERAL REGISTER
R3= 3 + :GENERAL REGISTER
Ré= % + :GENERAL REGISTER
RS= L5 : :GENERAL REGISTER
Ré= 16 : :GENERAL REGISTER
R7= %7 ::GENERAL REGISTER
3P= 16 ::STACK POINTER
PC= %7 : ;PROGRAM COUNTER
:«PRIORITY LEVEL DEFINITIONS
PRO= 0 ::PRIORITY LEVEL 0
PRI1= 40 $:PRTORITY LEVEL 1
PR§ 100 ;3P IOR.7Y LEVEL g
= 140 $:PPIORIT' LEVEL
PR4= 08 ::PRLORITY LEVEL 4
PRS= 4 $:PRIOKLTY LEVEL S
Pﬁgz 00 :PRIORITY LEVEL 9
= 0 ::PRIORITY LEVEL
+«*'SWITCH REGISTER" SWITCH DEFINITIONS
Sw15= 100000

SEQ 0014

e o e S S—————— e ——— ——p—— -
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CNDUQA.M11  30-0CT-82 12:1 BASIC DEFINITIONS SEQ 0015
) 040000 sWi4= 40000
(2) 020000 SWi3= 20000
(2) 010000 sWi2= 10000
(g) 004000 sWwil= 4000
(2) 002000 SW10= 2000
(g) 001000 SW09= 1000
(2) 000400 SW08= 400
(2) 000200 sW07= 200
(2) 000100 SW06= 100
(2) 000040 SW0S= 40
(2) 000020 SW0é= 20
(2) 000010 sWo3= 10
(2) 000004 SW02= &
(2) 000002 sWotl= 2
(2) 000001 SW00= 1
(2) LEQUIV SW09,SW9
(2) .EQUIV SW08.Sw8
(2) .EQUIV SW07.Sw7
(2) .EQUIV SW06.S
(2) .EQUIV SWO0S5.SWS
2) .EQUIV SW04.S
(2) .EQUIV SWO3.Sw3
2) -EQUIV SW02.SwW2
(2) JEQUIV SWO1.Sw1
gz; .EQUIV SWO00.SW0
(5) «DATA BIT DEFINITIONS (BITO0 TO BIT1S)
(s) 10%88 BIT15= 1
(2) BITl4= &
(2) 020000 BIT13= 20000
(2) 010000 BIT12= 10000
(2) 004000 BIT11= 4000
(2) 002000 BIT10= 2000
(2) 001000 BIT09= 1000
(2) 000400 BITO8= 400
(2) 000200 BITO7= 200
(2) 000100 BITO6= 100
(2) 000040 BITOS= 40
(2) 000020 BITO4= 20
B phoe: I

-

(2) 000002 BITO1= 7
(2) 000001 81T00=
(2) .EQUIV BIT09,BIT9
(2) .EQUIV anog.an
(2) .EQUIV BITO7.BIT
(2) .EQUIV anos.an
(2) .EQUIvV BIT0S.81T
(2) .EQUIV BIT04.BIT4
(2) .EQUIV angs.an
(2) .EQUIV BIT g.an
(2) .EQUIV ango.an
” .EQUIV BIT00.81T0
(2) " 2*BASIC '‘CPU'* TRAP vecm Aooaesses
(2) 000004 ERRVEC= & :TIME OUT AND OTHER ERRORS
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CNDUQ=AQ MACY11 30(1046) 14=DEC~82 09:56 PAGE 62-2
CNDUQA.M11  30-0CT-82 12:11 BASIC DEFINITIONS SEQ 0016
(2) 000010 RESVEC= 10 ;sRESERVED AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 33T BIT
(2) 000014 TRTVEC= 14 ::TRACE TRAP
(2) 000014 BPTVEC= 14 : sBREAKPOINT TRAP (BPT)
(2) 000020 10TVEC= 20 ;3 INPUT/OUTPUT TRAP (I0T) #+SCOPE#+
(2) 000024 PURVEC= 24 : ;POWER FAIL
(2) 000030 EMTVEC= :JEMULATOR TRAP (EMT) w+ERRORe+
(2) 000034 TRAPVEC=34 ;3" TRAP"' TRAP
(2) 000060 TKVEC= 60 ::1TY KEYBOARD VECTOR
(2) 000064 TPVEC= 64 ::TTY _FRINTER VECTOR
(2) seeses  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
(2) 000100 LKVEC= 100 :sLINE CLOCK VECTOR
(2) 000140 BRKVEC= 140 : sBREAK VECTOR
(2) 000240 PIRQVE (=240 :;PROGRAM INTERRUPT REQUEST VECTOR




CNDUQ=A0 MACYT 30(1046) 14=DEC-82 09:56 PAGE 62-3
CNDUQA.MT1 30-057-82 12:1 BASIC DEFINITIONS , SEQ 0017

;STANDARD INTERRUPT VECTORS

000174 =174

000174 000000 DISPREG:0

000176 000000 SWREG:0
000200 .=200

000200 000167 001746 JMP «START ;GO TO START OF PROGRAM
001100 .=1100

001100 000000 +WORD 0

001102 177570 LIGHTS:177570

;PROGRAM CONTROL PARAMETERS

Pl le el al el et ettt e e el oo lalelealolelo lolalolale]
LELSTNTNTNT ST NTRTURTSTNL N NN TSTNTNTNT N NS TSNS DS SIS SIS S LS N S S S S LS S S V]
N N o o o o e o N o N o o o o o o o N N N N N N N N N N N N N N N P P T N N P

001104 000000 RETURN: 0
001106 000000 NEXT: O ADDRESS OF NEXT TEST TO BE EXECUTED
001110 000000 Lock: 0 ADDRESS FOR LOCK ON CURRENT DATA
001112 000000 PASCNT: 0 ADDRESS CONTAINING PASS COUNT
001114 000000 ERRCNT: 0 sERROR COUNT
001116 000000 SAVSP: 0 :STACK POINTER STORAGE
:PROGRAM VARIABLES
001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELAY TIME FOR CABLES
001122 000000 SHIFT: 0 : TEMPORARY STORAGE= # OF SHIFTS PER CHAR
001124 000000 COUNT: : TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
0011%8 000000 SAVPC: 0 ;PROGRAM COUNTER STORAGE
0011 000000 HLDO: O
001132 000000 HLD1 0
001134 000000 HLD 0
001136 000000 HLD 0
001140 000000 HLD4 0
001142 000000 HLD5 0
001144 000000 HLD6 0
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CNDUQ=AQ MACY11 30(1046) 14-DEC-82 09:56 PAGE 62=4 |
CNDUQA.M11  30-0CT-82 12:11 BASIC DEFINITIONS SEQ 0018 '

(2) ;PROGRAM_CONVERSATIONAL PARAMETERS

(2) 001146 377 SYNCNO: LBYTE 377" ;4 OF SYNC CHARS REQ'D FOR SYNC'ZATION

(2) 001147 377 SEXMIT: .BYTE 377  :SEC XMIT JUMPER "IN

(2) 001150 377 SEREC: .BYTE 377  :SEC REC JUMPER "IN

(2) 001151 377 OPTCLR: .BYTE 377  :OPTIONAL JUMPER CLR "IN

(@ 001152 000 MULTD: .BYTE 0 :NO_MULTIPLE DEVICE FLAG

gg; 00115 377 JARBY: BV 377 EXTERWAL MODEM BYPASS JUWPER “IN"

(2)

(2) ;PROGRAM MULTIPLE DEVICE PARAMETERS

(2) 001154 000000 BASEADD:* 0 ;PROG_CONTROLLED 1ST DEVICE ADDR

(2) 001156 000000 KEEPADD: 0 :SAVED 1ST DEVICE ADDR

(2) 001160 000000 LASTADD:: 0 :LAST DEVICE RXCSR ADDR

(2) 001162 000000 BASEIV: 0 :PROG_CONTROLLED IV

(2) 001164 000000 KEEPIV: 0 :SAVED INTR VECTOR

(2) 001166 000000 ACTREG: 0 :ACTIVE REGISTER ,,,MODIFY THIS

(2) LOCATION T0 DISQUALIFY OR QUALIFY

(2) DEVICES (1= RUN, , 0= DON'T RUN)

(2) 001170 000000 ROTADD: 0 ROTATING POINTER FOR ACTREG..POINTS

3 :T0 DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES

(2 ;PROGRAM CONTROL FLAGS

(2) 001172 000 INIFLG: .BYTE 0 ;PROGRAM INITIALIZATION FLAG

(2) 001173 000 STFLG: .BYTE 0 :TEST START FLAG

(2) 001174 __ 000 LOKFLG: .BYTE 0 :LOCK ON CURRENT TEST FLAG

(2) 001176 -EVEN

(1) 001400 -=1400

(2)

)
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CNDUQ=AO MACY11 30(1046) 14-DEC=82 09:56 PAGE 62=5
CNDUQA.M11  30-0CT=82 12:1 BASIC DEFINITIONS SEQ 0019
)
i
g%; ;INSTRUCTION DEFINITIONS
2) 005746 PUSHISP=5746  :DECREMENT PROCESSOR STACK 1 WORD =TST =(SP)
(2) 005726 POP1SP=5726 : INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+
) 010046 PUSHRO-10046 :SAVE RO ON STACK =MOV RO,=(SP)
2) 012600 POPRO= :RESTORE RO FROM STACK =MOV (SP)+,RO
) 024646 PUSHZSP=2634 ;DECREMENT STACK TWICE =CMP =(SP),=(SP)
(2) 022626 POP2SP=22626  :INCREMENT STACK TWICE =CMP (SP)+,(SP)+
(2) :REGISTER DEFINITIONS
(2) -RXCSR BIT osrtnxtxons
(2) 100000 pSC=BIT15 DATA SET CHANGE
) 040000 RING=BIT14 :RING
) 020000 CTS=BIT13 :CLR TO SEND
2) 010000 CARDET=BIT12 :CARRIER DETECT
(2) 004000 RECACT=BIT11 *REC ACTIVE
(2) 002000 SRD=BIT10 :SEC REC DATA
(2) 001000 DSR=BIT9 :DATA SET RDY
(2) 000400 STPSYN=BIT8 SSTRIP SYNC
2) 000200 RXDONE=BIT7 :REC DONE
2) 000100 RINTEN=BIT6 *REC INTR ENABLE
(2) 000040 DSINTE=BITS :DSC INTR ENABLE
(2) 000020 SYNSCH=BI T4 :SYNC SEARCH
(2) 000010 STD=BIT3 SSEC XMIT DATA
(2) 000004 RTS=BIT2 :REQ TO SEND
(3) 000002 DTR=BIT1 :DATA TERM RDY
(2) 000001 VOID=BITO
(2) RXDBUF BIT DEF INITIONS
(2) RXERR=BIT15 REC ERROR
(2) 040000 OVRRUN=BIT14 -oveaaun
(2) 020000 FRMERR=BIT13 :FRAME ERROR
(2) 010000 PARER=BIT12 *PARITY ERROR
(2) PARCSR BIT DEFINITIONS
(2) 001000 PAREN=BIT9 :PARITY ENABLE
(2) 000400 EVPAR=BITS :EVEN PARITY SENSE
(2) -PARCSR WRD oernunt(ons
(2) 030000 SYNINT=30000 SYNC EXTERNAL MODE
(2) 020000 SYNEXT=20000 .svuc INTERNAL MODE
(2) 000000 1SYMOD=0 :1S0C MODE
(2) 000000 FIVE=0 *WORD LENGTH S BITS
(2) 002000 SIX=2000 *WORD LENGTH 6 BITS .
(2) 004000 SEVEN=4000 *WORD LENGTH 7 BITS °
(2) 006000 EIGHT=6000 :WORD LENGTH 8 BITS
(2) 000000 NOPAR=0 :NO PARITY
(2) 001000 0DDPAR=1000 00D PARITY
(2) 001400 EVEPAR=1400 *EVEN PARITY
(2) -TXCSR BIT DEFINITIONS
(2) 100000 DNA=BIT15 :DATA NOT AVAILABLE
(2) 040000 MTDATA=BIT14 nAlu DAT
(2) 020000 CLK=BIT1 s CLK
(2) 002000 BITW=BIT10 :BIT WINDOW
(2) 000400 MRESET=BIT *MASTER RESET
(2) 000200 TXDONE=B1T SXMIT DONE
(2) 000100 TXINTE=BITé SXMIT INTR ENABLE
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CNDUQA.M11 3o-oct-az 12:1 BASIC DEFINITIONS SEQ 0020
(2) 000040 DNAINTE=8!TS ;DNA INTR ENAB
(2) 000020 SEND=BIT4 +SEND
(2) 000010 HDXEN=BIT3 uox/rox
(2) 000001 BREAK=BIT0
(2) :TXCSR WRD oerxuitlons
(2) 000000 USER=0 ;USER MODE
(2) 004000 MINT=4000 sMAINT INT MODE
(2) 010000 MEXT=10000 SMAINT EXT MODE
(2) 014000 SYSTST=14000 :SYSTEM TEST MODE
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CNDUQA . M11 30-0CT-82 12:11 COMMON TAGS SEQ 0021
52)) .SBTTL COMMON TAGS
(%) A L L T T T T T T T T T T T e
(2) 'THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
8; ;*USED IN THE PROGRAM.
(%) 001400 o=
(2) 001400 $CMTAG: ::START OF COMMON TAGS
(2) 001400 JWORD O
(2) 00140% 000 $TSTNM: .BYTE 0 s sCONTAINS THE TEST NUMBER
(2) 00140 000 $ERFLG: .BYTE 0 : sCONTAINS ERROR FLAG
(2) 001404 $ICNT: .WORD O ¢ sCONTAINS SUBTEST ITERATION COUNT
(2) 001406 000000 SLPADR: .WORD 0 ::CONTAINS SCOPE LOOP ADDRESS
(2) 001410 000000 SLPERR: .WORD 0 sCONTAINS SCOPE RETURN FOR ERRORS
(2) 001412 000000 $ERTTL: .WORD O ::CONTAINS TOTAL ERRORS DETECTED
(2) 001414 000 $ITEMB: .BYTE 0 ::CONTAINS ITEM CONTROL BYTE
(2) 001415 001 SERMAX: .BYTE 1 sCONTAINS MAX. ERRORS PER TEST !
(2) 001416 000000 $ERRPC: .WORD 0 :.CONTAINS PC OF LAST ERROR INSTRUCTION -
(2) 001420 000000 $GDADR: .WORD 0 s sCONTAINS ADDRESS OF °*GOOD* DATA !
(2) 001422 $BDADR: .WORD 0 s sCONTAINS ADDRESS OF °'BAD' DATA ;
(2) 001424 000000 $GDDAT: .WORD 0 :sCONTAINS *GOOD* DATA ,
(2) 001426 000000 $BDDAT: .WORD 0 :;CONTAINS *BAD' DATA |
(2) 001430 000000 JWORD 0 : ;RESERVED-=NOT TO BE USED |
(2) 001432 000000 WORD 0 ;
(2) 001434 000 $AUTOB: .BYTE 0 s sAUTOMATIC MODE INDICATOR ;
(2) 001435 000 $INTAG: .BYTE 0 ¢ s INTERRUPT MODE INDICATOR ;
(2) 001436 000 JWORD O :
(S) 0014640 17757 SWR: +WORD  DSWR :;ADDRESS OF SWITCH REGISTER ;
(2) 001442 17757 DISPLAY: .WO DDISP : ADDRESS OF DISPLAY REGISTER ;
(2) 001444 177560 $TKS: 177560 ::TTY KBD STATUS r
(2) 001446 177562 $TkB: 177562 s:TTY KBD BUFFER |
(2) 001450 177564 $TPS: 177564 :sTTY PRINTER STATUS REG. ADDRESS i
(2) 001452 177566 $TPB: 177566 ;s TTY PRINTER BUFFER REG. ADDRESS g
(2) 001454 000 $NULL: .BYTE g : sCONTAINS NULL CHARACTER FOR FILLS 3
(2) 001455 002 $FILLS: .BYTE |
(2) : CONTAINS # OF FILLER CHARACTERS REOUIRED |
(2) 001456 012 SFILLC: .BYTE 12 s INSERT FILL CHARS. AFTER A '‘LINE _FEED' |
(2) 001457 000 $TPFLG: .BYTE 0 :: 'TERMINAL _AVAILABLE'® FLAG (BIT<07>=0=YES) I
(2) 001460 000000 SREGAD: .WORD O s sCONTAINS THE ADDRESS FROM |
(2) ::UHIC (SREGO) WAS OBTAINED |
(4) 001462 000000 SREGO: .WORD 0 :CONTAINS ((SREGAD)+0) '
(4) 001464 000000 $REG1: .WORD O ..CONTAINS ((SREGAD) +2) |
(4) 001466 000000 SREG2: .WORD O s sCONTAINS ((SREGAD) +4) :
(4) 001470 000000 $REG3: .WORD O : ;CONTAINS ((SREGAD)+6) }
(4) 001472 000000 SREG4: .WORD O ..CONTA!NS ((SREGAD)+10) ‘
(4) 001474 000000 SREG5: .WORD 0 :CONTAINS ((SREGAD)+12) ,
(4) 001476 000000 $TMPO: .WORD O ::USER DEF INED |
(4) 00150g (00000 $TMP1: .WORD O ..USER DEF INED t
(4) 001502 000000 $TMP2: .WORD O s sUSER DEFINED i
(4) 001504 $TMP3: .WORD s sUSER DEF INED I
(4) 001508 000000 $TMP4: .WORD s sUSER DEF INED I
(4) 001510 000000 $TMPS: .WO'D :.USER DEF INED |
(2) 001512 $TIMES: 8 s sMAX, NUMBER OF ITERATIONS |
(2) 001514 000000 $ESCAPE:: s ;ESCAPE ON ERROR ADDRESS |
(2) 001512 177607 000377 $BELL: .ASCIZ <207><377><377> ;;CODE FOR BELL
(2) 00152 077 $QUES: .ASCII /% s:QUESTION MARK

ST R—
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CNDUQ=A0 MACY11 30(1046) 14=DEC-82 09:56 PAGE 62-8
CNDUQA.M11  30-0CT=82 12:11 COMMON TAGS SEQ 0022
(2) 001523 015 $SCRLF: .ASCII <15> ..CARRIAGE RETURN
(§> 001524 000012 $LF:  .ASCIZ <12 :LINE FEED
( ) "tttttittttﬁtttitttttttttttttittt'ttttttttttttttttt*ttttittt'ttt
gg; "SBTTL APT MAILBOX=ETABLE
(l.) 'étttttttttttttl‘tQtt'it.'tttQI'QI*Qt.ttttt.ititt.tttt!.ttitt'ittt
(3) VEN
(3) 001526 $MAIL : : sAPT MAILBOX
(3) 001526 000000 $MSGTY: .WORD AMSGTY ::MESSAGE TYPE CODE
(3) 001530 000000 SFATAL: .WORD AFATAL ;;FATAL ERROR NUMBER
(3) 001532 000000 $STESTN: .WORD ATESTN ;:TEST NUMBER
(3) 001534 000000 SPASS: .WORD APASS ;:PASS COUNT
(3) 001536 000000 $DEVCT: .WORD ADEVCT ::DEVICE COUNT
(3) 001540 000000 SUNIT: .WORD AUNIT ::1/0 UNIT NUMBER
(3) 001542 000000 $MSGAD: .WORD AMSGAD ;:MESSAGE ADDRESS
(3) 001544 000000 $MSGLG: .WORD AMSGLG : :MESSAGE LENGTH
(3) 001546 SETABLE: :sAPT ENVIRONMENT TABLE
(3) 00156 000 SENV: .BYTE AENV  ::ENVIRONMENT BYTE
(3) 00154 000 SENVM: _BYTE _AENVM
(3 fuvxnounenr MODE BITS
(3) 00:550 000000 §SUREG: .WORD ASWREG ::APT SWITCH REGISTER
(3) 001552 000000 susun .WORD  AUSWR  ;;USER SWITCHES
(3) 001554 000000 . $CPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
(3 It 8its 15-11=CPU TYPE
(3) 1T 1/04=01,11/05= oz 11/20-03 11/40=04,11/45=05
(3) ‘e 11/70:06 .PDQ=07,0=10
3 1T BIT 10=REAL TIME CLOCK
(3) o BIT 9=FLOATING POINT PROCESSOR
(3) “ BIT 8=MEMORY MANAGEMENT
(3) 001556 000 §MAMS1: .BYTE  AMAMS1 ;;WIGH ADDRESS,.M.S. BYTE
(3) 001557 000 SMTYP1: .BYTE AMTYP1 ::MEW. TYPE ,BLK#1
(3) e MEM.TYPE BYTE == (HIGH BYTE)
(3) i 900 NSEC CORE=001
(3) n 300 NSEC BIPOLAR=002
(3 ‘e 500 NSEC M0S=003
(3) 001560 000000 $MADR1: .WORD AMADRY ;;MIGH Aooaess BLK#1
(3) ™ MEM.LAST ADDR.=3 avres THIS WORD AND LOW OF °‘‘TYPE'' ABOVE
(3) 001562 000 $MAMS2: .BYTE AMAMS2 ::HIGH ADDRESS,M.S. BYTE
(3) 001563 000 SMTYP2: .BYTE AMTYP2 ::MEM.TYPE,BLKA?2
(3) 001564 000000 SMADR2: .WORD AMADR? ::MEM.LAST ADDRESS,BLK#2
(3) 001566 000 SMAMS3: .BYTE AMAMS3 ::HIGH ADDRESS,M.S.BYTE
(3) 001567 000 $SMTYP3: .BYTE AMTYP3 ::MEM.TYPE,BLK#3
(3) 001570 000000 SMADR3: .WORD  AMADR3 ;:MEM.LAST ADDRESS,BLK3
(3) 001572 000 $MAMS4: .BYTE  AMAMS4 ;;HIGH ADDRESS,M.S.BYTE
(3) 001573 000 SMTYP4: .BYTE AMTYP4 ::MEM.TYPE,BLK#4
(3) 001574 000000 $MADRG: .WORD AMADRG : :MEM.LAST ADDRESS apr4
(3) 001576 000000 SVECT1: .WORD AVECT1 ::INTERRUPT VECTOR#1,BUS PRIORITY#1
(3) 001600 000000 SVECT2: .WORD AVECT2 ::INTERRUPT vecroaczéu PRIORITY#2
(3) 001602 000000 : .WORD ABASE
(3) :;BASE ADDRESS OF E unrneut UNDER TEST
(3) 001604 000000 $SDEVM: .WORD ADEVM ::os E MAP
(3) 001 000000 $COW1: .WORD ACDW1 ::(CO NTROLLER DESCRIPTION WORD#1
(3) 001610 000000 scogs: JWORD ACDW2 ::CONTROLLER DESCRIPTION WORD#2
(3) 001612 000000 $ODWO: .WORD  ADDWO :.oevnce DESCRIPTOR WORD#0
(3) 001614 000000 $ODW1: .WORD ADDW1 ::DEVICE DESCRIPTOR WORD#1
(3) 001616 000000 $DDW2: .WORD ADDW2  ;;DEVICE DESCRIPTOR WORDA2

. ———— ——— —— . . " - ——— ¢ — . —— = - -
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CNDUQA.M11 30-0CT=-82 12:11 APT MAILBOX-ETABLE SEQ 0023
(3) 16 000000 $ODW3: .WORD ADOW3  ;;DEVICE DESCRIPTOR WORDA3
(3) 001622 000000 $DDW4: .WORD ADDW4  ;;DEVICE DESCRIPTOR WORD#4
(3) 001624 000000 $DDWS: .WORD ADDWS  ;:DEVICE DESCRIPTOR WORDAS
(3) 001626 000000 $ODW6: .WORD  ADDW s sDEVICE DESCRIPTOR WORD#
(3) 001630 000000 $DDW7: .WORD  ADDW s sDEVICE DESCRIPTOR WORD#
(3) 001632 000000 $DDW8: .WORD ADDW8 ;;DEVICE DESCRIPTOR WORD#8
(3) 001634 000000 $DDW9: .WORD ADDWY  ;:DEVICE DESCRIPTOR WORDA9
(3) 001636 000000 $DDW10: .WORD  ADDW10 ;:DEVICE DESCRIPTOR WORD#10
(3) 001640 000000 $ODW11: .WORD ADDWI1 ;:DEVICE DESCRIPTOR WORD#11
(3) 001642 000000 $ODW12: .WORD  ADDW12 ;;DEVICE DESCRIPTOR WORD#1
(3) 001644 000000 $DDW13: .WORD ADDW13 ;;DEVICE DESCRIPTOR WORD#1
(3) 001646 000000 $DDW14: .WORD ADDW14 ;;DEVICE DESCRIPTOR WORD#14
g%; 001650 000000 $ODW15: .WORD  ADDW15 ;;DEVICE DESCRIPTOR WORD#15
(3)
(3) 001652 SETEND:
(3)

~~
e
~
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005746

L 2
14-DEC-82_ 09:56 PAGE 62-10
APT MAILBOX-ETABLE

sINSTRUCTION DEFINITIONS

PUSH1SP=5746  ;DECREMENT PROCESSOR STACK 1 WORD =TST =(SP)
POP1SP=5726 : INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+
PUSHR0=10046  :SAVE RO ON STACK =MOV RO,=-(SP)

POPR0=12600 *RESTORE RO FROM STACK =MOV (SP)+,RO

PUSHSP=24646  :DECREMENT STACK TWICE =CMP =(SP),=(SP)
POP2SP=22626 : INCREMENT STACK TWICE =CMP (SP)+,(SP)+

;REGISTER DEFINITIONS
;RXCSR BIT DEFINITIONS

pSC=BIT15 DATA SET CHANGE
RING=BIT14 ‘RING
CTS=BIT13 :CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 SREC ACTIVE
SRD=BIT10 *SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BITS SSTRIP SYNC
RXDONE=BIT7 sREC DONE
RINTEN=BIT6 SREC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
SYNSCH=BIT4 :SYNC SEARCH
STD=BIT $SEC XMIT DATA
RTS=BIT2 *REQ TO SEND
DTR=BIT1 :DATA TERM RDY
VOID=BITO

;RXDBUF BIT DEFINITIONS
RXERR=BIT15 :REC ERROR
ovnauu=axr14 :OVERRUN
FRMERR=BIT13 :FRAME ERROR
PARER=B1T12 SPARITY ERROR

:PARCSR BIT oerlnxtxous
PAREN=8179 PARITY ENABLE

EVPAR=BIT8 °EVEN PARITY SENSE
:PARCSR WRD DEF INITIONS

SYNINT=30000 :SYNC EXTERNAL MODE
svnexr:soooo .svnc INTERNAL MODE
1SYMOD :1S0C MODE
FIVE=0 :WORD LENGTH S BITS
SIX=2000 :WORD LENGTH 6 BITS
SEVEN=4000 :WORD LENGTH 7 BITS
exsurzsooo :WORD LENGTH 8 BITS
NOPAR= INO PARITY
0DDPAR=1000 ooo PARITY
EVEPAR=1400 VEN PARITY

TXCSR BIT osrnuttlon
DNA=BIT15 :DATA NOT AVAILABLE
MTDATA=BIT14 SMAINT DATA
CLK=BIT1 -ch
BITW=BIT10 :BIT WINDOW
MRESET=81T HASTEI RESET
TXDONE=81T XMIT DONE
TXINTE=BITé IXMIT INTR ENABLE

SEQ 0024
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APT MAILBOX-ETABLE

ONAINTE=BITS :DNA INTR ENAB
SEND=BI T4 : SEND
HDXEN=BIT3 uox/rox
BREAK=BIT0

:TXCSh WRD osrlnitxous
USER=0 :USER MODE
MINT=4000 :MAINT INT MODE
MEXT=10000 :MAINT EXT MODE

SYSTST=14000 :SYSTEM TEST MODE

SEQ 0025
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cuoqu.n11 30-0CT=-82 12:11 ERROR POINTER TABLE SEQ 0026 |

gg; .SBTTL ERROR POINTER TABLE

(2) :#THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

(2) :«THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND IN

(2) ;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

(2) :*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

55; s *NOTE2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:

(2) n EM ::POINTS TO THE ERROR MESSAGE

(2) te DH ::POINTS TO THE DATA HEADER

(2) v DT ::POINTS TO THE DATA

gg; ; DF :sPOINTS TO THE DATA FORMAT

(2)

(2) 001652 SERRTB:

(1) ;ERROR TABLE

(1) 001652 001762 EM1 :ERROR 1 REGISTER ERROR

(1) 001654 002067 DH1

(1) 001656 002116 DT1

(1) 001660 002132 DF 1

(1) 001662 002022 EM2 ;ERROR 2 RECEIVER ERROR

(1) 001664 002067 DH1

(1) 001666 002116 DT1

(1) 001670 002132 DF1

(1) 001672 002043 EM3 :ERROR 3 TRANSMITTER ERROR

(1) 001674 002067 DH1

(1) 001676 002116 DT1

(1) 00170 882132 DF 1

(1) 00170 1733 E :ERROR & BIT ERROR (GENERAL)

(1) 001704 0

(1) 001706 002126 DT4

2}; 001710 002132 DF1

(1) osrnuxr DU ADDRESSES

(1) 001712 174300 RXCSR: 17430

(1) 001714 174301 HRXCSR: 174301

(1) 001716 17430 RXDBUF : 174302

(1) 0017220 17430 HRXDBUF : 174303

(1) 001722 174302 PARCSR: 174302

(1) 001724 174303 HPARCSR: 174303

(1) 001726 174304 TXCSR: 174304

(1) 001730 174305 HTXCSR: 174305

(1) 001732 174309 TXDBUF : 174306

(1) 001736 17430 HTXDBUF : 174307

(1) :DEFAULT DU VECTORS

(1) 001736 000330 DURIV: $30 ;REC INTR VECTOR

(1) 001740 000332 DURIS 2 -aec INTR STATUS

(1) 001742 ooosgz DUTIV: XMIT INTR VECTOR

(1) 001744 0003 DUTIS: 336 xnlr INTR STATUS

(1 ;ERROR MESSAGES

(1) 001746 020040 051105 047522 EM4:  .ASCIZ / ERROR PC /

(1) 001754 020122 041520 00004

(1) 0017«_.5 gzool.o 84.7503 50115 EM1 LASCIZ / COMPARISON ERROR ON REGISTERS/

(1) 0017270 051101 051511 047117

(1) 001776 04 443 051122 851117

(1) 002004 047440 020116 042522

e <~ S ———. A = S~ — —
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(1) 002012 044507 052123 051105
(1) 002020 000123
(1) 002022 020040 042522 042503 EM2: .ASCIZ / RECEIVER ERROR/
(1) 0020 053111 051105 042440

. (1) 002036 051122 051117 000
(1) 2043 040 052040 040522 EM3: .ASCIZ / TRANSMITTER ERROR/
(1) 002050 051516 044515 052124
(1) 002056 051105 042440 051122
(1) 002 051117 000
(1) sDATA HEADERS FOR ERROR MESSAGES
(1) 067 105 051122 041520 DH1: JASCIZ /ERRPC WANTED ACTUAL/
(1) 002074 020040 040527 052116
(1) 002102 042105 020040 041501
(1) 002110 052524 046101 000
(1) 002116 .EVEN
(1) sDATA TABLES FOR ERROR MESSAGES
(1) 002116 001416 001130 001132 DT1: -WORD $ERRPC,HLDO,HLD1,0
g}; 002126 000000
g}; 002126 001416 000000 DTé4: .WORD  SERRPC,0
(1) 002135 000
(1) .EVEN
2%; .SBTTL ACT11 HOOKS
(3 AR AAAAAAAAAAARCCAAAARAAAAAAAAARAAAAAAAAAAAACRAAAAASEAROAATOAY
(g) HOOKS REQUIRED BY ACT11
(2) 002136 $SVP(C=. sSAVE PC
(2) 000046 =46
{g; 000046 0126?3 SEgng s:1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
(2) 000052 000000 WORD O ..Z)SET LOC. 52 TO ZERO
(2) 002136 .=$SVP( : RESTORE P
55; .SBTTL APT PARAMETER BLOCK
(3) skt AARRAARAAAEARACERAAATEEORRAAAAAARAAAAAAAAAAAAACARAAAAAORCACEES
(2) SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
(%) AR AR AR AN AT RN E RN RN AN AANAAAAARAAAAAAARCAAAAAAACARRS
(2) 002136 .$X=. ..SAVE CURRENT LOCATION
(2) 000024 =24 sSET POWER FAIL TO POINT TO START OF PROGRAM
(2) 000024 000200 200 .ofOR APT START UP
(2) 000044 =44 sPOINT TO APT INDIRECT ADDRESS PNTR.
(2) 000044 002136 ’APTHDR .:POINT TO APT HEADER BLOCK
(3) 002136 .=.$X  ::RESET LOCATION COUNTER
( ) :"."...'.'.'.'.'."."".".""'...‘...."..".."..'..'..'.."
(2) :§ETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
:g; s INTERFACE SPEC.
(2) 002136 $SAPTHD:
(2) 0021 000000 $SHIBTS: .WORD O s:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(2) 002140 001526 $MBADR: .WORD ‘"AIL ..ADDRESS OF APT MAILBOX (BITS 0-15)
(2) 002142 000010 $TSTM: .WORD 10 ssRUN TIM OF LONGEST TEST
(2) 002144 000010 SPASTM: .WORD 10 ..RUN TI"E IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(2) 002146 0000 SUNITM: .WORD s‘ RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(2) 002150 00005 .WORD ‘ETE"D"&AIL/ .LENG H MAILBOX=ETABLE (WORDS)
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000002
012767
12767
12637

01757

001400
001440
001100
016272
000300
014160
000300
016626
00030C
014762

177523

002270
002276

177777

002352
000176
000174
000004
177136
000200
001550

001100

016762
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177060
177054

177143
177024

000024

APT PARAMETER BLOCK

sPROGRAM INITIALIZATION

:LOCK OUT INTERRUPTS

sSET LP PROCESSOR STACK

:SET UP POWER FAIL VECTOR

sCLEAR _PROGRAM CONTROL FLAGS AND COUNTS
sTYPE TITLE MESSAGE

-START:

«SBTTL INITIALIZE THE COMMON TAGS

ssCLEAR THE COMMON TAGS (SCMTAG) AREA
MOV #SCMTAG,R6 ssFIRST LOCATION TO BE CLEARED
CLR (R6) + ONE? $3CLEAR MEMORY LOCATION

CMP #SWUR,R6 ;:DONE?
BNE -6 ::LO0P BACK IF NO
MOV MISTACK, SP :sSETUP THE STACK POINTER
;;INITIALIZE A FEW VECTORS
MOV #$SCOPE , a# 10TVEC ..1or VECTOR FOR SCOPE ROUTINE
MOV #PR6,a#IOTVEC+2 ;:LEVEL 6
MOV #SERROR, a#EMTVEC® ..Enr VECTOR FOR ERROR ROUTINE
MOV #PR6,IPEMTVEC+2 ;:LEVEL 6
::B8IT02 -

#STRAP, 3#TRAPVEC ; TRAP VECTOR FOR TRAP CALLS
MOV #PR6, 3FTRAPVEC+2; LEVE

MOV #SPURDN, 3#PWRVE ..POHER FAILURE VECTOR

MOV 0pngéaopuavecoz ..LEV L6

CLR STl sINITIALIZE NUMBER OF ITERATIONS
CLR SESCAPE ..CLEAR THE ESCAPE ON ERROR ADDRESS
Mov8e 01.‘ERHA! sALLOW ONE ERROR PER TEST

MOV #..SLPADR ::INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV  #. SLPERR :SETUP THE ERROR LOOP ADDRESS

::S1ZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS

:2EQUAL TO A “*=1°", SETUP FOR A SOFTWARE SWITCH REGISTER.

MOV S7ERRVEC,=(SP) ;;SAVE ERROR VECTOR
MOV 2643 aceﬁnvec ::SET UP ERROR VECTOR
MOV #OSWR, SW ..serur FOR A HARDWARE SWICH REGISTER
MOV 0oots6 DlSPLAY :;AND A HARDWARE DISPLAY REGISTER
CMP #-1,3SUR ::TRY to REFERENCE HARDWARE SWR
BNE 668" ::BRANCH IF NO TIMEOUT TRAP OCCURRED
::AND THE MARDWARE SWR IS NOT = =1
(3] 65% ::BRANCH IF NO TIMEOUT
648: :?Y #658, (SP) ::SET UP FOR TRAP RETURN
658: MOV #SWREG ;:POINT TO SOFTWARE SWR

MOV coxspnéc DISPLAY
668: MOV (SP)+,3#ERRVEC ;:RESTORE ERROR VECTOR

CLR $PASS :CLEAR PASS COUNT
BIT8 #APTSIZE ,SENVM ..TEST USER SIZE UNDER APT
BEQ 67% :YES,USE NON-APT SWITCH
678 MoV #$SWREG, SWR ::NO,USE APT SWITCH REGISTER
MOV lgTACK.SP sSET STACK
MTPS #300 LOCK INTERRUPTS
MoV #.PFAIL 8024 :SET UP POWER FAIL VECTOR

SEQ 0028
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CNDUQA.M11 30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0029
(2) 002432 105067 176535 CLRB  STFLG :CLEAR START FLAG
(2) 002436 005067 176450 CLR PASCNT :CLEAR PASS COUNT
(2) 002442 105067 176735 CLRB  SERFLG :CLEAR ERROR FLAG
(2) 002446 005067 176740 CLR SERTTL :CLEAR ERROR COUNT
(2) 002452 005067 176740 CLR SERRPC :CLEAR LAST ERROR POINTER
(2) 002456 01%767 000001 176713 MOV #1,8TSTNM :SET UP FOR TEST 1
(2) 002464 012767 002152 17641 MOV #.START,RETURN :SET UP FOR POWER FAIL BEFORE
(2) :TESTING STARTS
(2) 002472 o1g74e 000006 MOV an6,=-(SP)
(2) 002476 013746 000004 MOV an.=(SP)
(2) 002502 012737 002516 000004 MOV S, ank
(2) 002510 005777 176724 ST aswk
(2) 002514 000407 BR 2$
(2) 002516 012767 000176 176714 18: MOV #SWREG, SWR
(2) 002524 012767 000174 176710 MOV #DISPREG,DISPLAY
(2) 002532 022626 CMP (SP)+, (SP)+
(2) 002534 012637 000004 28: MOV (SP)+.a#4
(2) 002540 012637 000006 MOV (SP)+.a#6
(2) 002544 022767 000176 176666 CMP #SWREG, SWR
(2) 002552 001007 BNE 13
(2) 002554 005737 000042 ST G2 :CHECK FOR CHAIN
(2) 002560 001402 BEQ 338
(2) 002562 000167 000522 JMP .BEGIN
(2) 566 004767 010154 338:  JSR PC,CNTLU
(2) 002572 105767 176374 38: TSTB  INIFLG ;HAS INITIALIZATION BEEN PERFORMED
(2) 002576 001004 BNE ONCE
(2) 002600 104401 015122 TYPE  MTITLE ;TYPE TITLE MESSAGE
(5) oogeot. 105167 mssgs COMB  INIFLG *IF NOT SET FLAG AND DO
(2) 002610 105767 1767 ONCE: TSTB  SENV :APT CONTROL?
(2) 002614 001410 BEQ 118 :BR IF NO
(2) 002616 032767 000001 176726 BIT #1,SUSWR :EXTENAL JUMPER ON?
(2) 002624 00100; BNE 12$ :NO
(2) 002626 105067 176321 CLRB  JMRBY :CLEAR FLAG
(2) 002632 000167 000452 128: JWP .BEGIN 360 DO IT
(2) 002636 032777 000001 176574 11$:  BIT #5W00,aSWR *RESELECT VECTOR & CONTROL REG?
(2) 002 001002 BNE 13
(2) 002646 000167 000436 JMP g
(2) 002652 012700 000300 18: MOV cmmumnmmmnmmmmm
(2) 002656 012701 000302 MOV csoz R1 :START AT LOCATION 300
(2) 002 012702 000004 MOV 4,R2
(2) 002 010110 2s: MOV n1 (RO)
(2) 002670 005011 CLR (rR1)
(2) 002672 060200 ADD R2,R0
(2) 002674 060201 ADD R2.R1
(2) 002676 022701 001000 CMP #1000, R1 ;END AT LOCATION 776
(2) 002702 002771 BLT 2s
(2) 002704 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 002706 015171 MREGAD ;MESSAGE
(2) 002710 104410 PARAM couveat STRING
(5) 002712 174000 174000 :LOW LIMIT
(2) 002714 177773 177776 nnc LIMIT
(2) 002716 01712 DUBASE sroae AT THIS LOCATION
(2) 002720 001 BYTE 1 s MASK
(2) 002721 001 .BYTE 1 *HOW MANY TIMES ¢ 2
(1) 002722 016767 014176 176226 MOV DUBASE ,KEEPADD ;SAVE
(1) 002730 004767 014034 JSR PC,DUADDR
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(1) 002734 016767 176216 176212 MOV KEEPADD,BASEADD :RESTORE FOR ROTATION
(2) 002742 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING

(2) 002744 015156 MVECTO ;MESSAGE

(2) 002746 104410 PARAM  :CONVERT STRING

(2) 002750 000300 00 sLOW LIMIT

(2) 002752 000776 76 SHIGH LIMIT

(2) 002754 001736 DURIV  :STORE AT THIS LOCATION

(2) 002756 001 BYTE 1 *MASK

(2) 002757 004 BYTE & HOW MANY TIMES + 2

(1) 002760 016767 176752 176176 MOV DURIV,KEEPIV  ;SAVE

(1) 002766 016767 176744 176166 MOV DURIV.BASEIV  :SET UP FOR ROTATION

(2) 002774 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING

(2) 002776 015221 MMULT  :MESSAGE

(2) 003000 104414 SETFLG :SET FLAG BASED UPON INPUT STRING

(2) 003002 001152 MULTD ;THIS FLAG

(1) 003004 105767 176142 TSTB  MULTD :ARE THERE MULTIPLE DEVICES

(1) :ON THE SYSTEM ?

(1) 003010 100406 BMI BBB :YES,ASK NEXT QUESTION

(1) 003012 005067 176150 CLR ACTREG

(1) 003016 005067 176146 CLR ROTADD

g}; ggggsg 000167 000140 - JMP OUTMUL ;JUMP AROUND NEXT QUESTION

(2) 003026 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING

(2) 003030 015250 MLASTD :MESSAGE

(2) 003032 104410 PARAM  :CONVERT STRING

(2) 003034 174000 174000 :LOW LIMIT

(2) 003036 177776 177776 :HIGH LIMIT

(s) 003040 001160 %ASTADD :STORE AT THIS LOCATION

(2) 00304 001 .BYTE *MASK

(2) 003043 001 .BYTE 1 HOW MANY TIMES ¢ 2

N :THE FOLLOWING ROUTINE SETS UP ACTREG FOR THE FIRST TIME
(1) 003044 012767 000001 176116 1$: MOV #1,ROTADD +SET UP POINTER

(1) 003052 005067 176110 CLR ACTREG :CLR ACTIVE REGISTER

(1) 003056 056767 176106 176102 2$: BIS ROTADD,ACTREG :MAKE THIS DEVICE ACTIVE
(1) 003064 000241 cLe

(1) 003066 006167 176076 ROL ROTADD ;SET UP POINTER

(1) 003072 103421 BCS 1% :ARE YOU OUT OF RANGE ?

(1) 003074 062767 000010 176052 ADD #10,BASEADD :SET UP BASE ADDRESS

(1) 003102 026767 176052 176044 CMP 5ASfADD.BASEADD 1S THIS THE LAST DEVICE ?
(1) 003110 101362 BHI $ :NO DO IT AGAIN

(1) 003112 056767 176052 176046 BIS ROTADD,ACTREG :THIS ASSUMES THAT THERE ARE AT
(1) ;LEAST TWO DEVICES WHEN YOU ANSWER YES TO
(1) :MULTIPLE DEVICE QUESTION

(1) 003120 012767 000001 176042 4&$: MOV #1,ROTADD ;SET UP FOR LATER USE IN END OF PASS ROUTINE
(1) 003126 016767 176024 176020 MOV KEEPADD,BASEADD :DITTO

(1) 003134 000414 BR OUTMUL ~;CONTINUE QUESTIONS

(1) 003136 016767 176014 176010 3$: MOV KEEPADD,BASEADD ;RESTORE

(2) 003144 1046406 INSTR  ;OUTPUT MESSAGE & GET INPULT STRING

(2) oomg 015344 MRANGE  ;MESSAGE

(2) 003150 104410 PARAM  :CONVERT STRING

(2) 003152 174000 174000 :LOW LIMIT

(2) 003154 177776 177776 :HIGH LIMIT

(2) 003156 001160 LASTADD :STORE AT THIS LOCATION

(2) 003160 001 BYTE 1 s MASK

(2) 003161 001 BYTE 1 “HOW MANY TIMES + 2

(1) 003162 000167 177656 JMP is :00 IT AGAIN
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(1) 003166 012767 000300 013570 OUTMUL: MOV #300,DUPRT
(1) 003174 004767 013514 JSR PC,DULEV
(2) ;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(5) :BUFFER TO THE_CHARACTERS "1'* AND """,
(2) :1F ThE CHARACTER IS ''I'' CLEAR THE FLAG
(2) :IF THE CHARACTER IS *'2'* SET THE FLAG
(2) 003200 AAA:
(2) 003200 1044 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003202 01556 MSYNC  ;MESSAGE o
(2) 003204 122767 000061 012712 3s: CMPB  #°'1, INBUF ;1S IT ' 2
(5> 003212 001003 BNE 1%
(2) 003214 105067 175726 CLRB  SYNCNO :000
(2) 003220 000412 BR 4 =
(2) 003222 122767 000062 012674 1$: CMPB  #°'2, INBUF ;1S IT ' 2
(2) 003230 001004 BNE 2s
(2) 003232 112767 177777 175706 MOVB  #-1,SYNCNO :377
(2) 003240 000402 BR 4
(2) 003242 104407 2s: INSTER ;RETRY
(2) 003244 000757 BR {3
(2) 003246 000240 4$: NOP
(2) 003250 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003252 015630 MWIRE6 :MESSAGE
(2) 003254 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003256 001147 SEXMIT :THIS FLAG
(2) 003260 104406 INSTR  :OUTPUT MESSAGE & GET INPUT STRING
(2) 003262 015701 MUIRES :MESSAGE
(2) 003264 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(5) 333593 1150 SEREC :THIS FLAG
(2) 003 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003272 015751 MWIREG ;MESSAGE
(2) 003274 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003276 001151 OPTCLR :THIS FLAG
(2) 003300 104406 INSTR  :OUTPUT MESSAGE & GET INPUT STRING
(2) 003302 016030 MEXTJ  ;MESSAGE
(2) 003304 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
82; 003306 001153 JMRBY  :THIS FLAG
55; :TEST START AND RESTART
(2) 003310 012706 001100 .BEGIN: MOV #STACK,SP :SET UP STACK
(2) 003314 106427 000300 MTPS #300 :LOCK OUT INTERRUPTS
(2) 003320 032777 000002 176112 BIT #5W01,3SWR :IF SWO01=1, GET STARTING PC
(2) 003326 001413 BEQ 33
(3) 003330 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(3) 003332 015514 MTSTPC :MESSAGE
(3) 003334 104410 PARAM  :CONVERT STRING
(3) 003336 003374 TST1  :LOW LIMIT
(3) 003340 017500 17500 :HIGH LIMIT
(3) 003342 001402 $TSTNM :STORE AT THIS LOCATION
(3) 003344 001 BYTE 1 SMASK
(3) 003345 1 BYTE 1 *HOW MANY TIMES ¢ 2
(5: 003346 016767 176030 175530 MOV $TSTNM,RETURN
(2) 003354 000403 BR 4$
(2) 883356 012767 003374 175520 38: MOV #TST1,RETURN :START AT TEST 1
(2) 003364 104401 015510 48: TYPE MR STYPE R
(2) 003370 000177 175510 JMP SRE TURN SSTART TESTING
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INITIALIZE THE COMMON TAGS

:sTHIS TEST PROVES EXISTANCE OF DEVICE REGISTERS

e
s e RANARRNAAAAARARNANREAAOREANAAANAONAAAAARAAAAIAAANAAEAAACOIOROEES

tST1:  SscoPe

MOV #TRPREG,a#
MOV PR6,a#6 ;
INCB HEXCSR

sSETUP TRAPCATCHER
sTEST THIS REG

BR .+ :IF OK JMP AROUND ERROR

ERROR & sCHECK DEVICE REG ADDRESSES
INCB @HRXCSR ;TEST UPPER BYTE THIS REGISTER

BR 7 :IF OK JMP AROUND ERROR

ERROR & sCHECK DEVICE REG ADDRESSES
MOV #6.,0¥44 sRESTORE TRAPCATCHER

MOV #0,3%6 s

MoV #6200, HOLD ;SET LONGER DELAY FOR TEST.
ssTHIS TEST PROVES EXISTANCE OF DEVICE REGISTERS

::tttt.t;;'ttttttttttt!tti."Qtti.tttttt.tti..'ti'tt’.!'!..t'tt't
TST2: SCOPE

MOV #TRPREG,a#4 :SETUP TRAPCATCHER
MOV PR6,3#6 ;
INCB aRXDBUF :TEST THIS REG
BR .+ :IF OK JMP AROUND ERROR
ERROR & :CHECK DEVICE REG ADDRESSES
INCB aHRXDBUF sTEST UPPER BYTE THIS REGISTER
B8R .t :IF OK JMP AROUND ERROR
ERROR 4 sCHECK DEVICE REG ADDRESSES
MOV #6,3%4 sRESTORE TRAPCATCHER :
MOV #0,3%6 :
22THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS

ve
sogbttttRARAAARECCOOROOCCORCOEOROROEOORAAARACAOAAAAACACCARAEAECAACECOONRSETTSE

TST3:  SCOPE

MoV #TRPREG,a#4
MoV PRG,a#6 ;
IgCB aPARCSR

::REV. €O

sSETUP TRAPCATCHER
sTEST THIS REG

8 .t :1F OK JMP AROUND ERROR

ERROR & :CHECK DEVICE REG ADDRESSES
INCB @HPARCSR :TEST UPPER BYTE THIS REGISTER

BR . *h :IF OK JMP AROUND ERROR

ERROR & sCHECK DEVICE REG ADDRESSES
MOV 86,344 :RESTORE TRAPCATCHER

MOV #0,3#6 s

;s THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS

oo
coegtnRARtRARARARRERRERRORERRCERORARRRAARAAAARRARERACRCERREARRCCCORRERTTS

TSt4:  scope

SEQ 0032



3

CNDUQ=AQ MACY11 30(1046) 14=DEC-82 09:56 PAGE 62-19
CNDUQA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0033

(1) 003602 012737 017362 000004 MOV #TRPREG, 3#4 :SETUP TRAPCATCHER

(1) 003610 016737 174464 000006 MOV PRG,a#6 ;

(1) 003616 105277 176104 INCB  @TXCSR ;TEST THIS REG

(1) 003622 000401 BR L+ :IF OK JMP AROUND ERROR

(1) 003626 104004 ERROR & :CHECK DEVICE REG ADDRESSES
(1) 003626 105277 176076 INCB  SHTXCSR :TEST UPPER BYTE THIS REGISTER

(1) 003632 000401 BR .+ ;IF OK JMP AROUND ERROR

(1) 00363& 104 ERROR & ;CHECK DEVICE REG ADDRESSES
(1) 003636 012737 000006 000004 MOV 26,304 ;RESTORE TRAPCATCHER

m 003644 012737 000000 000006 MOV #0,346 :
am ::THIS TEST PROVES EXISTANCE OF DEVICE REGISTERS

(S) . ;tttttt:;titt'tttttitttttttt"tttttt.'t!ttt'ttt.ttt'itttt'tt'ttt
m 003652 000004 TSTS:  SCOPE

(1) 003654 012737 017362 000004 MOV #TRPREG, ¥4 :SETUP TRAPCATCHER

(1) 003662 016737 174412 000006 MOV PR6,a#6 ;

(1) 0036720 105277 176036 INCB  @TXDBUF ;TEST THIS REG

(1) 003674 000401 BR e :IF 0K JMP AROUND ERROR

(1) 003676 ERROR & :CHECK DEVICE REG ADDRESSES
(1) 003700 105277 176030 INCB  @HTXDBUF :TEST UPPER BYTE THIS REGISTER

(1) 003704 000401 BR .+ :IF OK JMP AROUND ERROR

(1) 003706 104004 ERROR 4 ;CHECK DEVICE REG ADDRESSES
(1) 003710 012737 000006 000004 MOV 26,304 :RESTORE TRAPCATCHER

m 003716 012737 000000 000006 MOV #0,a06 :
g};ls. ;;BUS DRIVER TEST
81 76 . :tttttt;;ttttitttttttttttt'ttttttttttttttt'ttttt'ttt!'tt.tttt."
g; 003724 000004 TST6:  SCOPE
8177 003726 022777 000000 175776 CMP #0,3TXDBUF

8178 003734 001401 BEQ o+

8179 003736 104004 ERROR 4 :READING TXDBUF SHOULD BE ALL ZERO'S

8180 ::THIS TEST PERFORMS MASTER RESET TESTING &

m ::TESTING OF READ/WRITE BIT DTR

(S) 2 tttttt;;ttttt'tt'tttt"tt'tttttttttttl!tttttttttttttltt'ttt.ttt
52; 003740 000004 7ST7:  SCOPE

(1) 003742 052777 000002 175742 BIS #DTR,IRXCSR ;SET THIS BIT

(1) 003750 032777 000002 175734 BIT #DTR,GRXCSR :TEST THIS BIT

(1) 003756 001001 BNE YA :BR IF *{*

(1) 003760 104004 ERROR & :THIS BIT SHOULD BE SET

(1) 003762 042777 000002 175722 BIC #DTR,ARXCSR ;CLR THIS BIT

(1) 0037720 032777 000002 175714 BIT #DTR.BRXCSR :TEST THIS BIT

(1) 003776 001401 BEQ .+ :BR IF ‘0"

(1) 004000 104004 ERROR & ;THIS BIT SHOULD BE CLR

(1) NOW SET THIS BIT

(1) 004002 052777 000002 175702 8IS #DTR,ARXCSR

(2) 004010 052777 000400 175710 BIS #MRESET,ATXCSR :MASTER RESET

m ::CHECK EXISTANCE OF OPTIONAL CLEAR JUMPER

(1) 004016 105767 175127 TS18  OPTCLR :TEST FLAG

(1) 004022 100006 BPL 18 ;:OPTIONAL CLR JUMPER IS NOT IN
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(1) 0040264 032777 000002 175660 BIT #DTR,ARXCSR :TEST THIS BIT
(1) 0040 001401 BEQ .4 :BR IF '0"
(1) 00403¢ 104004 ERROR & ;CHECK OUT MASTER RESET LOGIC
(1) 004036 000405 BR 2s MP AROUND
(1) 0046040 032777 000002 175644 18: BIT #DTR,ARXCSR resr THIS BIT
(1) 004046 001001 BNE .+ :BR IF """
(1) 004050 104004 ERROR & :CHECK OUT OPTIONAL CLR JUMPER
g}; 004052 000240 2s: NOP

8181 ;:THIS TEST PERFORMS MASTER RESET TESTING &
{}; ;:TESTING OF READ/WRITE BIT RTS
(S) ttttttttttttt*'it't""ti'tt"ttttt.'ttt'tQ.Q't't.!tt.'t'tt..tt
52; 004054 000004 t4110:  SCOPE
(1) 004056 052777 000004 175626 BIS #RTS,ARXCSR :SET THIS BIT
(1) 064 032777 000004 175620 BIT #RTS,ARXCSR TEST THIS BIT
(1) 004072 001001 BNE YA :BR I ﬁ'°
(1) 004074 104004 ERROR & -THIS BIT SHOULD BE SET
(1) 004076 042777 000004 175606 BIC #RTS,ARXCSR :CLR THIS BIT
(1) 0041064 032777 000006 175600 BIT #RTS.IRXCSR :TEST THIS BIT
(1) 004112 001401 BEQ .+ :BR IF ‘0"
(1) 004114 104004 ERROR & :THIS BIT SHOULD BE CLR
(1) ;NOW SET THIS BIT
(1) 004116 052777 000004 175566 BIS #RTS,ARXCSR
(2) 004124 052777 000400 175574 BIS #MRESET,3TXCSR :MASTER RESET
5}; ::CHECK EXISTANCE OF OPTIONAL CLEAR JUMPER
(1) 004132 105767 175013 fSt8  OPTCLR :TEST FLAG
(1) 004136 100006 BPL 18 :OPTIONAL CLR JUMPER IS NOT IN
(1) 004140 032777 000004 175544 BIT #RTS,ARXCSR :TEST THIS BIT
(1) 004146 001401 BEQ .+ :BR IF ‘0"
(1) 004150 1046004 ERROR 4 ;CHECK OUT MASTER RESET LOGIC
(1) 004152 000405 BR 2s :JMP AROUND
(1) 004154 032777 000006 175530 1$: BIT #RTS,ARXCSR ;TEST THIS BIT
(1) 004162 001001 BNE .+ :BR IF *"{"
(1) 004164 104004 ERROR & :CHECK OUT OPTIONAL CLR JUMPER
g}; 004166 000240 28: NOP

8182 :WAIT FOR CABLE DELAYS
(1) ttttttttttt'ttttttttttttttttttttt'ttlt
(1) :MODIFY "HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) ttttttttttttit'tttt'tit"tttttttt*tttt
(1) 004170 016702 174724 MOV HOLD,R2 ;SET DELAY TIME
(1) 004174 005302 DEC R2
(1) 004176 001376 BNE -2 ;WAIT THIS TIME
(1) ;0K NOW FALL THRU AND CONTINUE TESTING...........
(1) :EXIT STAGE LEFT....CHINNNG'

8183 ::THIS TEST PERFORMS MASTER aesev TESTING &
f}; ::TESTING OF READ/WRITE BIT §
(S) ttttttQittttttttttQtt'tt'tttttttttttttttttttttt.tttttttttttt!t!
52; 004200 000004 t§T11:  SCOPE
(1) 004205 052777 000010 175502 BIS #STD,ARACSR :SET THIS BIT
(1) 004210 032777 000010 175474 BIT #STD,ARXCSR STEST THIS BIT
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(1) 004216 001001 BNE b :BR IF 1"
(1) ooazzg 104004 ERROR & :THIS BIT SHOULD BE SET
(1) 0042 oasm 000010 175462 BIC #STD,ARXCSR ;CLR THIS BIT
(1) 004230 032777 000010 175454 BIT #STD,3RXCSR :TEST THIS BIT
(1) 004236 001401 BEQ o+ :BR IF ‘0
(1) 004240 104004 ERROR & :THIS BIT SHOULD BE CLR
(1) :NOW SET THIS BIT
(1) oo:.%l.z 052777 000010 175442 8IS #STD,aRXCSR
(2) 004250 052777 000400 175450 BIS #MRESET,aTXCSR ;MASTER RESET
m :;CHECK EXISTANCE OF OPTIONAL CLEAR JUMPER
(1) 004256 105767 174667 fST8  OPTCLR :TEST FLAG
(1) 004262 100006 BPL 18 :OPTIONAL CLR JUMPER IS NOT IN
(1) 004264 032777 000010 175420 BIT #STD,RXCSR :TEST_THIS BIT
(1) 004272 001401 BEQ .+ :BR IF ‘0"
(1) 004276 104004 ERROR & :CHECK OUT MASTER RESET LOGIC
(1) 004276 000405 BR 2 MP AROUND
(1) 004300 032777 000010 175404 1$: BIT #STD,ARXCSR rssr THIS BIT
(1) 004306 001001 BNE .+ :BR IF "
(1) 004310 104004 ERROR & :CHECK OUT OPTIONAL CLR JUMPER
m 004312 000240 2s: NOP
8184 ::THIS TEST PERFORMS MASTER RESET TESTING &
ﬂ; :;TESTING OF READ/WRITE BIT SYNSCH
(S) 22 ttttiittﬁttttttttttttttttttttttittiittttttttttttttttttttttttttt
53 004314 000004 TST12: SCOPE
(1) 004316 052777 000020 175366 BIS #SYNSCH,@RXCSR ;SET THIS BIT
(1) 004324 032777 000020 175360 BIT #SYNSCH.@RXCSR :TEST THIS BIT
(1) 004332 001001 BNE .+ :BR IF "4
(1) 004334 104004 ERROR 4 :THIS BIT SHOULD BE SET
(1) 004336 042777 000020 175346 BIC #SYNSCH,@RXCSR :CLR THIS BIT
(1) 004344 032777 000020 175340 BIT #SYNSCH,@RXCSR :TEST THIS BIT
(1) 004352 001401 BEQ .+ :BR IF ‘0"
(1) 004354 104 ERROR & :THIS BIT SHOULD BE CLR
(1) :NOW SET THIS BIT
(1) 004356 052777 oooozo 175326 BIS #SYNSCH,aRXCSR
(2) 004364 052777 175334 BIS #MRESET.@TXCSR :MASTER RESET
(1) 004372 032777 oooozo 175312 BIT #SYNSCH.BRXCSR :TEST THIS BIT
(1) 004400 001401 BEQ L+ :BR IF ‘0"
m 004402 104004 ERROR & :CHECK OUT MASTER RESET LOGIC
8185 ::THIS TEST PERFORMS MASTER RESET TESTING &
m :;TESTING OF READ/WRITE BIT DSINTE
(S) ttttttttttttﬁttttttttttttt'ttttttttttt.tttQtitttttﬁttittttttttt
52; 004404 000004 t§7T13:  SCOPE
(1) 004406 052777 000040 175276 BIS #DSINTE @RXCSR ;SET THIS BIT
(1) 006414 032777 000040 175270 BIT #DSINTE .aRXCSR _:TEST THIS BIT
(1) 004422 001001 BNE .+ :BR IF “{"
(1) 004426 104004 ERROR 4 :TH xs BIT SHOULD BE SET
(1) 006426 042777 000040 175253 BIC #DSINTE RXCSR  :CLR r 1$ BIT
(1) 004434 032777 000040 17525 BIT #DSINTE.BRXCSR :TEST THIS BIT
(1) 004442 001401 BEQ A :BR IF *0"
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(1) 004444 104004 ERROR & :THIS BIT SHOULD BE CLR
(1 NOW SET THIS BIT

(1) 004446 osgm 000040 175236 8IS #DSINTE,aRXCSR

(2) 004454 052777 000400 175244 BIS #MRESET,3TXCSR :MASTER RESET

(1) 004462 032777 000040 175222 BIT #DSINTE,@RXCSR :TEST THIS BIT

(1) 004470 001401 BEQ 4 :BR IF '0"

ﬂ ; 004472 104004 ERROR & :CHECK OUT MASTER RESET LOGIC
8186 ::THIS TEST PERFORMS MASTER RESET TESTING &

m $:TESTING OF READ/WRITE BIT RINTEN

(S) ;:tttttt;;tttttt'tttttittitttt'ttttttttttttt.tttttttlittttttttttt
g:; 004474 000004 TST14: SCOPE

(1) 004476 052777 000100 175206 BIS #RINTEN,3RXCSR :SET THIS BIT

(1) 004504 032777 000100 175200 BIT #RINTEN.SRXCSR :TEST THIS BIT

(1) 004512 001001 BNE Y :BR IF 1"

(1) 004514 104004 ERROR & :THIS BIT SHOULD BE SET
(1) 004516 042777 000100 175166 BIC #RINTEN,@RXCSR ;CLR THIS BIT

(1) oo:.sit. 032777 000100 175160 BIT #RINTEN,@RXCSR :TEST THIS BIT

(1) 004532 001401 BEQ .+ :BR IF ‘0"

(1) 004534 104004 ERROR & :THIS BIT SHOULD BE CLR
(1) : :NOW SET THIS BIT

(1) 004536 052777 000100 175146 BIS #RINTEN,3RXCSR

(2) 004546 052777 175154 BIS #MRESET,@TXCSR :MASTER RESET

(1) 004552 032777 000100 175132 BIT #RINTEN,SRXCSR :TEST THIS BIT

(1) 004560 001401 BEQ . :BR IF '0"

m 004562 104004 ERROR & ;CHECK OUT MASTER RESET LOGIC
8187 ::THIS TEST PERFORMS MASTER RESET TESTING &

m s:TESTING OF READ/WRITE BIT STPSYN

(5) -;tttttt;;ttttttttttt'ﬁttttiit'ttttttttttttttttttttttttttttt'tttt
52; 004564 000004 TST15: SCOPE '

(1) 004566 052777 000400 175116 BIS #STPSYN,aRXCSR ;SET THIS BIT

(1) 004574 032777 000400 175110 BIT #STPSYN.SRXCSR :TEST THIS BIT

(1) 004602 001001 BNE Y :BR IF "{*

(1) 004604 104004 ERROR 4 :THIS BIT SHOULD BE SET
(1) 004 042777 00 175076 BIC #STPSYN,BRXCSR :CLR THIS BIT

(1) 004614 032777 000400 175070 BIT #STPSYN,@RXCSR :TEST THIS BIT

(1) 004622 001401 BEQ .+ :BR IF '0"

(1) 006624 104004 ERROR 4 :THIS BIT SHOULD BE CLR
(1) :NOW SET THIS BIT

(1) 004626 052777 000400 175056 BIS #STPSYN,BRXCSR

(2) 004634 052777 000400 175064 BIS #MRESET,ATXCSR :MASTER RESET

(1) 004642 032777 000400 175042 BIT #STPSYN.BRXCSR :TEST THIS BIT

(1) 004650 001401 BEQ .+ :BR IF ‘0"

g ; 004652 104004 ERROR & :CHECK OUT MASTER RESET LOGIC
8188 ::THIS TEST PERFORMS MASTER RESET TESTING &

m ::TESTING OF READ/WRITE BIT BREAK

(S) 1 tttttt;;ttttttttttttt'tt"t"ttttttt't.ttttttttt.t'ttttt'tttttt
53 004654 000004 fsT16: ScOPE




CNDUQ=AQ MACY11 30(1046) 14-DEC-82 09:56 PAGE 6223 ,
CNDUQA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0037

(1) 004656 052777 000001 175042 8IS #BREAK,@TXCSR  ;SET THIS BIT
(1) 004664 032777 000001 175034 BIT #BREAK,@TXCSR _:TEST THIS BIT
(1) 004672 001001 BNE .+ :BRIF "
(1) 004674 104004 ERROR & :THIS BIT SHOULD BE SET
(1) 004676 042777 000001 175022 BIC #BREAK,@TXCSR  ;CLR THIS BIT
(1) 004704 032777 000001 175014 BIT #BREAK,@TXCSR  ;TEST THIS BIT
(1) 004712 001401 BEQ .+ :BR IF
(1) 004714 104004 ERROR & :THIS BIT SHOULD BE CLR
(1) :NOW SET THIS BIT
(1) 004716 052777 000001 175002 8IS #BREAK,aTXCSR
(2) ooarg« 052777 000400 174774 BIS #MRESET,aTXCSR ;MASTER RESET
(1) 004732 032777 000001 174766 BIT #BREAK,8TXCSR  :TEST THIS BIT
(1) 004740 001401 BEQ .4 :BR IF '0"
2}; 004742 104004 ERROR & :CHECK OUT MASTER RESET LOGIC |

8189 ::THIS TEST PERFORMS MASTER RESET TESTING & |
g}; S:TESTING OF READ/WRITE BIT HDXEN |
(S) 22 ttttti;;ttttttttti'iitttttttitt'tttttttlttttttttttttttttttttt.t f
:2; 004744 000004 TST17: SCOPE :
(1) 004746 052777 000010 174752 BIS #HDXEN,@TXCSR  ;SET THIS BIT |
(1) 004754 032777 000010 174744 BIT #HDXEN.@TXCSR  :TEST THIS BIT :
(1) 004762 001001 BNE .+ :BR IF " |
(1) 004764 104004 ERROR & :THIS BIT SHOULD BE SET
(1) 004766 042777 000010 174732 BIC #HDXEN,@TXCSR  ;CLR THIS BIT |
(1) 004774 032777 000010 174724 BIT #HDXEN,@TXCSR  ;TEST THIS BIT |
(1) 005002 001401 BEQ +4 :BR IF ''0* |
(1) 005006 104004 ERROR & ;THIS BIT SHOULD BE CLR ,
() :NOW SET THIS BIT ;
(1) 005006 052777 000010 174712 BIS ~ WHDXEN,ATXCSR |
(2) 005014 052777 000400 174704 BIS #MRESET,aTXCSR :;MASTER RESET |
(1) 005022 032777 000010 174676 BIT #HDXEN,STXCSR  :TEST THIS BIT |
(1) 005030 001401 BEQ .+ ‘BR IF 'O
ﬂ ; 005032 104004 ERROR & :CHECK OUT MASTER RESET LOGIC

8190 ::THIS TEST PERFORMS MASTER RESET TESTING & |
g}; *:TESTING OF READ/WRITE BIT SEND |
(S) °:ttttti;atttttttttt"Q.t'!t'.ttttttttttttt.tttttit'tt.t't.tttiit l
(4) 00503 000004 t§7120: scope |
(1) 005036 052777 000020 174662 BIS #SEND,@TXCSR  ;SET THIS BIT !
(1) 005044 032777 000020 174654 BIT #SEND.@TXCSR  :TEST THIS BIT |
(1) 005052 001001 BNE 44 ;BR IF "% ’ |
(1) 005054 104004 ERROR 4 :THIS BIT SHOULD BE SET |
(1) 005056 5777 0020 174642 BIC #SEND,@TXCSR  :CLR THIS BIT |
(1) sog& 32777 000020 174634 BIT #SEND.@TXCSR  :TEST THIS BIT a
(1) 005072 001401 BEQ . +4 ‘BR IF ‘0"
(1) 005074 104004 ERROR & ;THIS BIT SHOULD BE CLR
(1) :NOW SET THIS BIT |
(1) 005076 052777 20 174622 BIS #SEND,@TXCSR |
(2) 005104 052777 08 174614 BIS #MRESET,aTXCSR :MASTER RESET
(1) 005112 032777 20 174606 BIT #SEND,9TXCSR™  :TEST 1565 BIT
(1) 0051 1401 BEQ L+ ‘BR IF
(1) 005122 104004 ERROR & :CHECK OUT MASTER RESET LOGIC

——— 8 ———— . — —n ——— b ——— — .
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(1) i
8191 ::THIS TEST PERFORMS MASTER RESET TESTING &
g}; $STESTING OF READ/WRITE BIT DNAINTE
(S) .o tttﬁtt;;tttnttttttti F 2222323323222 2333322223212 2232123212122 7131;]
gz; 005124 000004 T§121: SCOPE |
1N 005152 055777 000040 174572 BIS #ONAINTE ,@TXCSR :SEY THIS BIT
(1) 005134 032777 000040 174564 BIT #ONAINTE .@TXCSR :TEST THIS BIT |
(1) 005142 001001 BNE L +4 ;BR IF "§" |
(1) 005144 104004 ERROR 4 :THIS BIT SHOULD BE SET :
(1) 005146 042777 000040 174552 BIC #DNAINTE ,@TXCSR :CLR THIS BIT :
(1) 005154 032777 000040 174544 BIT #DNAINTE ,@TXCSR ;TEST THIS BIT ;
(1) 005162 001401 BEQ .+ :BR IF ‘0" |
(1) 005164 104004 ERROR 4 ;THIS BIT SHOULD BE CLR |
1) :NOW SET THIS BIT :
(1) 005166 052777 000040 174532 8IS #DNAINTE ,@TXCSR s
(2) 005174 052777 000400 174524 BIS #MRESET,@TXCSR ;MASTER RESET |
(1) 005202 032777 000040 174516 BIT #DNAINTE ,@TXCSR ;TEST THIS BIT ;
(1) 005210 001401 BEQ e :BR IF ‘0" :
m 005212 104004 ERROR & :CHECK OUT MASTER RESET LOGIC |
8192 ::THIS TEST PERFORMS MASTER RESET TESTING & Z
513 :3TESTING OF READ/WRITE BIT TXINTE ;
(S) ;; ittttt;;ttttttttQ'Qttttttt'tttt'ttttttttttt'ttit.tttttittttittt ,
52; 005214 000004 TST22: SCOPE |
(1) 005216 052777 000100 174502 BIS #TXINTE,@TXCSR ;SET THIS BIT ,
(1) 005224 032777 000100 174474 BIT #TXINTE.@TXCSR :TEST THIS BIT |
(1) 005232 001001 BNE .+ :BR IF " ;
(1) 005234 104004 ERROR 4 :THIS BIT SHOULD BE SET |
(1) 005236 042777 000100 174462 BIC #TXINTE,@TXCSR ;CLR THIS BIT |
(1) 005244 032777 000100 174454 BIT #TXINTE.@TXCSR :TEST THIS BIT ;
(1) 005252 001401 BEQ e :BR IF ‘0" |
(1) 005254 104004 ERROR & :THIS BIT SHOULD BE CLR -
(1 :NOW SET THIS BIT !
(1) 005256 052777 000100 174442 8IS #TXINTE,@TXCSR :
(2) 005264 052777 000400 174434 BIS #MRESET.@TXCSR ;MASTER RESET '
(1) 005272 032777 000100 174426 BIT #TXINTE,@TXCSR :TEST THIS BIT .
(1) 005300 001401 BEQ 44 :BR IF '0" ,
g}; 005302 104004 ERROR & :CHECK OUT MASTER RESET LOGIC !
3}32 ;:TEST MAINT MODE BIT 0 f
HH i
8195 $3THIS TEST PERFORMS MASTER RESET TESTING & ;
g}; *STESTING OF READ/WRITE BIT BIT11 |
(5) AR AR AR RN E AR AR AN RN R AR AE AR ORRRS i
:2; 005304 000004 TS123: scoPe
(1) 005306 85 777 004000 174412 BIS #BIT11,3TXCSR  ;SET THIS BIT
(1) 005314 032777 004000 174404 8IT #BIT11.9TXCSR  :TEST THIS BIT
(1) 005322 001001 BNE .+ :BR IF "
(1) 005324 104 ERROR 4 -THIS BIT SHOULD BE SET
(1) 005326 042777 004000 174372 BIC #BIT11,3TXCSR  ;CLR THIS BIT
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1) 005334 032777 004000 174364 BIT #BIT11,TXCSR  ;TEST THIS BIT
1) 005342 001401 BEQ .+ :BR IF '0"
1) 005346 104004 ERROR 4 :THIS BIT SHOULD BE CLR
1 :NOW SET THIS BIT
1) 005346 053777 004000 174352 BIS #BIT11,3TXCSR
2) 005354 052777 000400 174344 BIS #MRESET,@TXCSR ;MASTER RESET
1) 005362 032777 004000 174336 BIT #BIT11,8TXCSR  :TEST THIS BIT
1) 005370 001401 BEQ 44 ‘BR IF ‘0"
}; 005372 104004 ERROR 4 :CHECK OUT MASTER RESET LOGIC
g 36 ;;TEST MAINT MODE BIT 1
819 $:THIS TEST PERFORMS MASTER RESET TESTING &
} $:TESTING OF READ/WRITE BIT BIT12
s :°tttttt;;tttttt'ttttiittttitttttttttttttttttttttttttiiiitttttttt
2 005374 000004 TST24: SCOPE
005376 052777 010000 174322 BIS #BIT12,8TXCSR  ;SET THIS BIT
005404 032777 010000 174314 BIT #BIT12.9TXCSR  :TEST THIS BIT
005412 001001 BNE .+ :BR IF """
005414 104004 ERROR 4 :THIS BIT SHOULD BE SET
005416 042777 010000 174302 BIC #BIT12,8TXCSR  ;CLR THIS BIT
oosags 032777 010000 174274 BIT #BIT12.8TXCSR  ;TEST THIS BIT
005432 001401 BEQ o :BR IF ‘0"
005434 104004 ERROR & :THIS BIT SHOULD BE CLR
54 52777 O1 17426 6?2“ serc;?¥§z°5}xcsn
544 855777 803288 174%5 BIS cnnessf.arxcsn :MASTER RESET
005452 032777 010000 174246 BIT #BIT12,8TXCSR  ;TEST THIS BIT
005460 001401 BEQ .+ :BR IF *0*
005462 1046004 ERROR & ;CHECK OUT MASTER RESET LOGIC

0o
e lalalalealalalalalealalalalalalalelalala b dalealala o lale Lo le le Lo Lo e Lo 1o Ll b L ettt L L L L

::THIS TEST PERFORMS MASTER RESET TESTING €
ssTESTING OF READ/WRITE BIT CLK

o
sottRARAARARAARR IR AARRORRRROSORAARAARECAAERAACACARANARAAOROEOCOOOCOOEESY

000004 T§125: SCOPE
005466 052777 020000 174232 8IS #CLK,ATXCSR ;SET THIS BIT
005474 032777 020000 174224 BIT #CLK,BTXCSR *TEST THIS BIT
005502 001001 BNE Y :BR IF "§"
005504 104004 ERROR 4 :THIS BIT SHOULD BE SET
005506 042777 020000 174212 BIC #CLK,ATXCSR :CLR THIS BIT
005514 032777 020000 174204 BIT #CLK,@TXCSR s TEST !qés BIT
005522 001401 BEQ . :BR IF '0"
005526 104004 ERROR & :THIS BIT SHOULD BE CLR
NOW SET THIS BIT

oossgg 052777 020000 174172 BIS #CLK,BTXCSR
0055 50777 400 174124 BIS #MRESET,TXCSR :;MASTER RESET
88554 32777 020000 174156 BIT leK.lTlCSI TEST THIS BIT

55 1401 BEQ s ‘BR IF ‘0"
005552 104004 ERROR 4 ;CHECK OUT MASTER RESET LOGIC

~R

:sTHIS TEST PERFORMS MASIER RESET TESTING €
ssTESTING OF READ/WRITE BIT MTDATA

e—t
S

- —— e — e e - - - e ——— PRSN——
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INITIALIZE THE COMMON TAGS

4

Q'ﬁt"ﬁ't"'ﬁtt"."""t'i""i'.Q"QQ"'".QQ..'Q.Q'...'.Q.Q.

t87126: SCOPE
174142 BIS #MTDATA,@TXCSR :SET THIS BIT
174134 BIT #MTDATA.STXCSR :TEST THIS BIT
BNE .+ :BR IF "{*"
ERROR 4 -rnxs BIT SHOULD BE SET
174122 BIC #MTDATA,@TXCSR :;CLR THIS BIT
174114 BIT #MTDATA,@TXCSR :tes THIS BIT
BEQ .+ :BR IF '0"
ERROR & :THIS BIT SHOULD BE CLR
:NOW SET THIS BIT
174102 8IS #MTDATA,RTXCSR
174074 BIS #MRESET.@TXCSR ;MASTER RESET
174066 BIT #MTDATA,@TXCSR ;TEST THIS BIT
BEQ 44 :BR IF ‘0"
ERROR & :CHECK OUT MASTER RESET LOGIC
::THIS TEST VERIFYS THAT INIT (RESET) CLEARS BITS IN THE
..nxcsn € TXCSR
ttttt.ltttt't"itttit'tt"tt'tttt.tttt.tttttttttt.ttttttttttttt
isrzr SCOPE
174036 MOV #177777,9RXCSR  :SET ALL POSSIBLE BITS
174044 :gger #77777.9TXCSR  :DITTO
MTPS  #300  :RESTORE uon INTERRUPT STATUS
MOV aRXCSR,R1 :$ AVE
MOV aTXCSR.R2 AVE
;g}ﬂ ?:rcLa °IESTHE bPTlONAL CLR JUMPER ON ?
BIC #16,R1 :CLR THE NON RESETABLE BITS
18: BIC #075000,R1 :CLR ALL NON-CLEARABLE BITS
;g; R1‘ :ARE THEY ALL 0 ?
ERROR & :ALL SPECIFIED BITS SHOULD BE CLEAR
BIC coozzoo R2 :CLEAR ALL NON-CLEARABLE BITS
gg; 3‘ Aae THEY ALL O ?
ERROR & ALL SPECIFIED BITS SHOULD BE CLEAR

¢
;WAIT FOR CABLE DELAYS

tt.titititti*t'tt't."*titttitttttttﬁ.

:MODIFY *HOLD:"’

ACCORDINGLY FOR FASTER OR SLOWER MACHINE

sERRRtRttttteRd AR RRCORRARARRRAARAAAAESE

MoV
DEC
BNE =2

:gLD .R2 ;SET DELAY TIME
sWALT THIS TIME

:0K NOW FALL THRO AND CONTINUE TESTING.cccoocccee
EXIT STAGE LEFT....CHINNNG'

ssTHIS TEST PERFORMS MASTER RESET TESTING &
s+ TESTING OF WRITE ONLY BIT MRESET

o0
HAAAAA LA AR AR AR AR Rl dd i i iR dRddai ittt diiid]])
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CNDUGA.M11  30-0CT=-82 12:1 INITIALIZE THE COMMON TAGS SEQ 0041

g:; 005746 000004 TST30: SCOPE
(1) 005750 052777 000400 173750 BIS #MRESET,ATXCSR :TRY TO SET THIS BIT
(1) 005756 032777 000400 173742 BIT #MRESET.@TXCSR :TEST THIS BIT
(1) 005764 001401 BEQ .+ :BR IF 'o
(1) 005766 104004 ERROR & HIS BIT SHOULD NOT BE SET
(2) 005770 052777 000400 173730 BIS #MRESET,ATXCSR ;MASTER ke SET
(1) 005776 032777 000400 173722 BIT #MRESET,@TXCSR ;TEST THIS BIT
(1) 006004 001401 BEQ L+ :BR IF 'O
(1) 006006 104004 ERROR & :THIS BIT SHOULD NOT BE SET
{}; :CHECK MASTER RESET LOGIC

g%gg ..ruxs TEST VERIFYS THAT THE RXCSR & TXCSR CAN BE BYTE ADDRESSED (DATOB)

82§7 tttttttttttttlttt"'tttttQ"t’l'ttttQtttt'tttt'tttttttttt'tt'ttt!
53; 006010 000004 r§rs1 SCOPE

8228 006012 052777 000400 173706 BIS #MRESET,@TXCSR_ ;MASTER RESET

8229 006020 105767 173125 TSTB  OPTCLR xs THE OPTIONAL CLR JUMPER ON ?

8230 006024 100405 BMI 18

8231 006026 012777 000000 173656 MOV :o.anxcs& :CLR OUT NON RESETABLE BITS

8232 006034 005777 173652 ST aRXCSR  :CLR OUT DSC BY READING RXCSR

8233 006040 152777 000001 173646 18: BISB  #BITO.@HRXCSR _ :SET STRIP SYNC UPPER BYTE

8234 006043 017701 173640 MOV aRXCSR,R1 +SAVE RXCSR

8235 006052 022701 000400 CMP c«uc R ;TEST RXCSR

8236 006056 001401 BEQ

8237 006060 104004 ERROR 4 ;ONLY STRIP SYNC SHOULD BE SET

8238 006062 105077 w§y CLRB uum *CLR LOWER BYTE

8239 006066 017701 173620 MOV aRXCSR,RY :SAVE RXCSR

8240 006072 022701 000400 CMP caoo ai :TEST RXCSR

8241 006076 001401 BEQ

8242 006100 104 ERROR 4 :ONLY STRIP SYNC SHOULD BE SET

8243 006102 052777 000400 173616 BIS #MRESET,3TXCSR :MASTER RESET

8244 006110 152777 000040 173612 BISB  #BITS,aHTXCSR :SET MAINT CLK UPPER BYTE

8245 006116 017701 173604 MOV aTXCSR,R1 :SAVE TXCSR

8246 006122 042701 002000 BIC #BITW,R1 :CLR BIT WINDOW (DEPENDENT

8247 ON H315 CONNECTOR EXISTANCE)

8248 006126 022701 020200 CMP czozoo ai :TEST TXCSR

8249 006132 001401 BEQ .+

8250 006134 104004 ERROR 4. ;ONLY MAINT CLK BIT & TXDONE SHOULD BE SET

8251 006136 105077 173564 CLRB  @TXCSR :CLR LOWER BYTE

8252 006142 017701 173560 MOV aTXCSR,R1 ;SAVE TXCSR

8253 006163 042701 002000 BIC #BITW,R1 SCLR BIT WINDOW (DITTO)

8254 006152 022701 020200 CMP czozob R1 STEST TXCSR

8255 006156 001401 BEQ s

8256 006160 104004 ERROR 4. :ONLY MAINT CLK BIT & TXDONE SHOULD BE SET

8257 ::THIS TEST PERFORMS MASTER RESET TESTING &

8258 $:TESTING OF READ ONLY BIT BITW

3259 : SMAINT INTERNAL

822] ttttttttttttttttttttttt'ttt'tttttttttttttttt.tttttttt'tttt'ttt'
;3; 006162 000004 t6732:  SCOPE

gsg 006164 012777 044001 173534 MOV IHINT!HTDATA!BREAK.&TICSR‘HTDAtA:SEt MAINT INT..BREAK,

8264 006172 032777 002000 173526 BIT #BITW,ATXCSR  :TEST BITW
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INITIALIZE THE COMMON TAGS

173312

1%:

2%:

BNE .+

ERROR & ;BIT WINDOW SHOULD BE SET
BIC #MTDATA,@TXCSR

MOV a#1132,R2

DEC

BNE 1$

BIT #B1TW,aTXCSR

BEQ . th

ERROR _ & :BIT SHOULD BE CLR

:NOW SET THE MTDATA
BIS #MTDATA,TXCSR

BIS #MRESET.@TXCSR ;MASTER RESET
BIS #MINT 'BREAK,3TXCSR

MOV gg1132.n2

DEC

BNE 2%

BIT #BITW,aTXCSR

BEQ .+

ERROR & ;BITW SHOULD BE CLR BY MASTER RESET

::THIS TEST PERFORMS MASTER RESET TESTING &
::TESTING OF READ ONLY BIT BITW
: MAINT EXTERNAL

o
cokkttkrARdtdbdd bt bbb OO OAARROOOARAAAAAAAASICOROIAAOACAACAARSIRAORES

75133:

1$:

SCOPE
sTEST TO SEE IF EXTERNAL MODEM BYPASS CONNECTOR

1S ON (H315)....IF *NO"™ JUMP AROUND TEST
fstT8  JMRBY
BPL 1$

1T IS NOT ON

MOV #MEXT!MTDATA!BREAK ,aTXCSR - :SET MAINT EXT.,BREAK,
BIT #BITW,TXCSR  :TEST BITW
BNE . +4
ERROR 4 ;BIT WINDOW SHOULD BE SET
BIC #MTDATA,QTXCSR
BIT #BITW,aTXCSR
BEQ . +4
ERROR 4 :BIT SHOULD BE CLR
:NOW SET THE MTDATA
8IS #MTDATA,STXCSR
8IS #MRESET.@TXCSR :MASTER RESET
BIS #MEXT 'BREAK,3TXCSR
BIT #BITW,aTXCSR

+

BEQ . *4
ERROR & ;BITW SHOULD BE CLR BY MASTER RESET

s:THIS TEST PERFORMS MASTER RESET TESTING &
ssTESTING OF READ ONLY BIT RXDONE

o0
cogpftttAttdAd ARttt AR EAORNREORRRLAORARRAARARARRAAEOACAOAARARSIRAOOERETSR

15134

SCOPE
BIS #MRESET ,@TXCSR ;MASTER RESET

SEQ 0042
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0 MACY11 30(1046) 14~DEC-82 09:56 PAGE 62-29
M 30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0043

006414 032777 000200 173270 BIT #RXDONE ,@RXCSR  ;TEST THIS BIT

006422 001401 BEQ .4 :BR IF ‘0

0064264 104004 ERROR & CHECK MASTER RESET LOGIC
:OR SHORT ON THIS BIT

;:THIS TEST PERFORMS MASTER RESET TESTING &
;sTESTING OF READ ONLY BIT RECACT

oo
(R A2 AR i dddditidiiRiiidiiddd i d iRl iiiiddidadiddds)

006426 000004 TS135: SCOPE

006430 052777 000400 173270 BIS #MRESET ,@TXCSR ;MASTER RESET

006436 032777 004000 173246 BIT #RECACT,@RXCSR ;TEST THIS BIT

006444 001401 BEQ . *h :BR IF '0

006446 104004 ERROR & :CHECK MASTER RESET LOGIC
:OR SHORT ON THIS BIT

ssTHIS TEST PERFORMS MASTER RESET TESTING &
ssTESTING OF READ ONLY BIT DSC

| CNDUQ
CNDUQ

P lalalall e telalalalalalealolalal. o talalala

b o cd D cd e D b N LS LN A b o b nd b b b e N LN LN b D b e e d d
O NN VI o v o o o o o o SN N o o o N W o St N st . D)
B

'
CRRAAAAANAAAARAAAERAAATATAAARCORAAAAAAAAAAAEAAAOARAACAAOAOOOR AR Ed

( 006450 000004 TST36: SCOPE
(2) 006452 052777 000400 173246 BIS #MRESET,@TXCSR :;MASTER RESET
(1) 006460 032777 100000 173224 BIT #DSC,aRXCSR :TEST THIS BIT
(1) 006466 001401 BEQ .+ :BR IF ‘0"
(1) 006470 104004 ERROR 4 :CHECK MASTER RESET LOGIC
g ;:OR SHORT ON THIS BIT
83 ::THIS TEST PERFORMS MASTER RESET TESTING &
g; ::TESTING OF READ ONLY BIT TXDONE
83 ';tttttt;;ttttttttt'ttt"'tttttittttttttttttttttttttttttttttttttt
f%, 006472 000004 TS$137: SCOPE
8319 006474 052777 000400 173224 BIS #MRESET,@TXCSR ;MASTER RESET
8320 006502 032777 000200 173216 BIT #TXDONE ,@TXCSR ;TEST THIS BIT
8321 006510 001001 BNE Y :BR IF *1"
8322 006512 104004 ERROR & +CHECK MASTER RESET LOGIC
8323 :OR SHORT ON THIS BIT
8324 ;:THIS TEST PERFORMS MASTER RESET TESTING &
g}; ::TESTING OF READ ONLY BIT DNA
(5) ::itt!tt;;ttttttt'titt"tttttttt'ttttttttttt'tttﬁttttttttt'ttt.tt
52; 006514 000004 7ST40: SCOPE
(2) 006516 052777 000400 173202 BIS #MRESET,@TXCSR :MASTER RESET
(1) 006524 032777 100000 173174 BIT #DNA,@TXCSR :TEST THIS BIT
(1) 006532 001401 BEQ .+ :BR IF ‘0"
(1) 006534 104004 ERROR & :CHECK MASTER RESET LOGIC
g}; :0OR SHORT ON THIS BIT
8325 ::THIS TEST PERFORMS MASTER RESET TESTING &
3359 ::TESTING OF READ ONLY WORD RECEIVE DATA
8328 ::tttttt;.ttt.ttttt'ttttttQt'ttttttttttttttltttttttttlt.'tttttt'tt
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' CNDUQ=A0 MACY11 30(1046) 14-DEC-82 09:56 PAGE 62-30
CNDUQA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0044
g; 006536 000004 TST41: SCOPE
| 8329 006540 052777 000400 173160 BIS cnaesew.arxcsa :MASTER RESET
8330 006546 016703 173144 MOV axosur :FOR ERROR MESSAGE
8331 006552 012700 000377 MOV 6 *EXPECTED
8332 006556 017701 173134 MOV aaxoaur R1 *ACTUAL
8333 006562 120001 (MPB  RO,R1 &
833, 006564 001401 BEQ . +4 ;BR IF '0
8335 006566 104002 ERROR 2 :REC DATA SHOULD BE ALL 1°'S
833% ::THIS TEST PERFORMS MASTER RESET TESTING &
2}; :3TESTING OF READ ONLY BIT PARER
(S) ..itttttttttttttttitittiitit'ttt.tittitttttittttttttttlttttttttti
g:; 006570 000004 7ST42: SCOPE
(2) 006572 052777 000400 173126 8IS #MRESET,3TXCSR :;MASTER RESET
(1) 006600 032777 010000 173110 BIT #PARER,3RXDBUF :TEST THIS BIT
(1) 006606 001401 BEQ e :BR IF 'O
(1) 006610 104004 ERROR 4 cnecx MASTER RESET LOGIC
m :OR SHORT ON THIS BIT
8337 ::THIS TEST PERFORMS MASTER RESET TESTING &
513 :3TESTING OF READ ONLY BIT FRMERR
(S) . - tttttttttttttttt"tt'tttt."..tt!ii't.tit.tt'tit"!ttt!tt'ttt"
52; 006612 000004 TST43: SCOPE
(2) 006614 053777 ogo4oo 17 104 BIS #MRESET,3TXCSR ;MASTER RESET
(1) 006622 032777 020000 1730 BIT #FRMERRQRXDBUF :TEST THIS BIT
(1) 006630 001401 BEQ .+ :BR IF 'O
(1) 006632 104004 ERROR 4 cnecx MASTER RESET LOGIC
g}; ;OR SHORT ON THIS BIT
8338 ;:THIS TEST PERFORMS MASTER RESET TESTING &
5}; :3TESTING OF READ ONLY BIT OVRRUN
(S) tttttttttttttttttttttttttt'tttttt*ttttttttttttttttttttit.tttttt
52; 006634 000004 §T44:  SCOPE
(2) 006636 052777 000400 173062 BIS #MRESET,@TXCSR :MASTER RESET
(1) 006644 032777 040000 173044 BIT #OVRRUN,@RXDBUF ;TEST THIS BIT
(1) 006652 001401 BEQ 4 :BR IF ‘0"
(1) 006654 104004 ERROR & cuecx MASTER RESET LOGIC
g}; :OR SHORT ON THIS BIT
8339 ::THIS TEST PERFORMS MASTER RESET TESTING &
533 :3TESTING OF READ ONLY BIT RXERR
(5) tttttttttttttttttttt'tittt'ittttttttttttttt.tttt.tt'.ittttttttt
52; 006656 000004 t§145:  SCOPE
(2) 006660 052777 000400 173040 BIS #MRESET,aTXCSR nAsrsa RESET
(1) 006666 032777 100000 173022 BIT #RXERR, 3RXDBUF tesr IS BIT
(1) 006674 001401 BEQ L+ R IF ‘0"
(1) 006676 104004 ERROR & -CHECK MASTER RESET LOGIC
(1 :OR SHORT ON THIS BIT

- — —— . — e ——— o ———— = —— .~ _——— - « =
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| CNDUQ=-AQ MACY11 30(1046) 14-DEC-82 09:56 PAGE 62-31
|CNDUQA.M11  30~0CT-82 12:1 INITIALIZE THE COMMON TAGS SEQ 0045
i
L
| 8340 ..rnxs TEST VERIFYS THAT rue DEVICE REGISTER RXCSR
8341 :31S CLEARED BY MASTER RESET
83‘2 2333332333133 333222323322 222 3312333 2122332232233 2 3132222232237
g; 006700 000004 t4746: SCOPE
8343 006702 012777 177777 173002 MOV #177777 ,8RXCSR  ;SET ALL POSSIBLE BITS
8344 006710 052777 000400 173010 BIS #MRESET,@TXCSR :MASTER RESET
8345 006716 016703 172770 MOV RXCSR,RS :FOR ERROR MESSAGE
8346 006722 017701 172764 MOV aRXCSR,R1 :SAVE ACTUAL
8347 006726 105767 172217 TSTB  OPTCLR ;TEST THE OPT CLR JUMPER FLAG
8348 006732 100010 BPL 1% :NO ,ITS NOT IN
8349 00673¢ 042701 173000 BIC #173000, R1 CLR NON-MASTER RESETTABLE
8350 :BITS(SINCE ruesé ARE DEPENDENT ON H315 CONNECTORS EXISTANCE)
8351 006740 012700 000000 MOV #0,R0  :EXPECTED
8352 006744 020001 CMP RO.R1  :EXPECTED VS ACTUAL
8353 006746 001401 BEQ L+
8354 006750 104001 ERROR 1 ;ALL MASTER RESETABLE BITS SHOULD BE CLR
8355 006752 000407 BR 2 unp ROUND
8356 006754 042701 173000 18: BIC #173000, R1 R NON-MASTER RESETABLE
8357 axrs(sxuce ruesé ARE DEPENDENT ON H315 CONNECTORS EXISTANCE)
8358 006760 012700 000016 MOV #16,R0 PECTED
8359 006764 020001 CMP ao R1 expecttb vs ACTUAL
8360 006766 001401 BEQ
8361 006770 104001 ERROR i’ ONLY STD,RTS,DTR BITS SHOULD BE SET
83 :NOTE THAT STD IS READ =1 INDEPENDENT OF
836 SSEC XMIT #6 STRAP
8364 006772 2s:
8365 ;WAIT FOR CABLE DELAYS
(1) ttttitttttttttttttttttttttttt'tttttttt
(N SMODIFY "MOLD:"* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) JERRRRANEA N ER RN R C AR RN RANENN AN RNNS
(1) 006772 016702 172122 MOV HOLD,R2 ;SET DELAY TIME
(1) 006776 005302 DEC R2
(1) 007000 001376 BNE <2 ;WAIT THIS TIME
(1N ;0K NOW FALL THRU AND CONTINUE TESTING..ooeeeeoes
1) :EXIT STAGE LEFT....CHINNNG!
8367
8368 ::THIS TEST VERIFYS THAT THE DEVICE REGISTER TXCSR
gggg ::1S CLEARED BY MASTER RESET
8371 Qtttttt't!tttt!"t""'t!ttt.tti!..'tt'tt'..tt'tttt!tttttttt!tt
:g; 007002 000004 t4147: SCOPE
8372 007004 012777 177777 172714 MOV #77777,9TXCSR  :SET ALL POSSlBLE BITS
8373 007012 052777 000400 172706 BIS rnnsser aTXCSR nasrsn RESET
8374 007020 016703 172702 MOV 3 :FOR ERROR nessAss
8375 007026 017701 172676 MOV arxcsi *SAVE ACTU
8376 007030 012700 000200 MOV #200,R 6 expec (3]
8377 007034 020001 CMP RO.RT  :EXPECTED VS ACTUAL
8378 007036 001401 BEQ 4
gg;g 007040 104001 ERROR 1 ;ONLY TXDONE SHOULD BE SET
8381 ::THIS TEST VERIFYS THAT THE DEVICE REGISTER RXDBUF
8382 ::1S CLEARED BY MASTER RESET
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| CNDUQ=AD MACY11 30(1046) 14=DEC=82 09:56 PAGE 62-32
/CNDUQA.M11  30-0CT-82712:11 INITIALIZE THE COMMON TAGS SEQ 0046
| 8383 33
i 83 22 3313221232222 1 22222 32 i R 2212223222222 222¢%
| 53; 007042 000004 ¥$150: SCOPE
8385 007044 052777 000400 172654 BIS #MRESET gucsn ;MASTER RESET
8386 007052 016703 172640 MOV RXDBUF ,R :FOR ERROR MESSAGE
8387 007056 017701 172634 MOV aRXDBUF ,R1 - SAVE
8388 007062 012700 000377 MOV #377 ,R0" ;EXPECTED
8389 007066 020001 CMP RO,RT  :EXPECTED VS ACTUAL
8390 007070 001401 BEQ +4
8391 007072 104002 ERROR 2 :ONLY REC DATA BITS SHOULD BE SET
8392 ::THIS TEST VERIFYS BITS RING,CTS,CARDET,SRD,DSR
8393 ::ALSO DSC IS GENERATED WHEN ANY OF THESE BITS ARE SET
839% ::0R CLEARED.....IT ALSO CHECKS THE MODEM BYPASS
8395 ::JUMPER AND THAT THESE BITS CAN BE READ
gggg ::NOTE: THE MODEM BYPASS JUMPER MUST BE ON (H315)
8398 22 tttttt;;tttt!tttt".""t.'.Q'.tttQtit..t.'tttt.'ttttttttttt.it
g; 007074 000004 TST51: SCOPE
8399 007076 005077 172610 CLR @RXCSR :TO GET RID OF STD ,RTS,.DTR IF OPTCLR JUMPER #4 IS NOT ON
8400 007102 052777 000400 172616 BIS #MRESET,STXCSR :MASTER RESET
8401 ;TEST THAT A “'YES'* ANSWER WAS GIVEN TO QUESTION IN
8402 :THE MONITOR OR BY DEFAULT
8403 :THIS TEST WILL BE BYPASSED IF THE EXTERNAL BYPASS
8404 - JUMPER IS NOT INSTALLED
8405 007110 105767 172037 TSTB  JMRBY
09 007114 100402 BM] .+6 :THE ANSUER WAS YES.....
0 : PERFORM THIS TEST
3’;,83 007116 000167 000652 JMP ouT1 :%p nsnouuo THIS TEST IF THE ANSWER
8410 007122 016703 172564 MOV RXCSR,R3 :SET UP FOR ERROR MESSAGE
8411 007126 017701 172560 MOV aRXCSR,R1 *ACTUAL
wg 007132 005000 CLR RO :EXPECTED
8413 007134 005701 ST R1 ;IS IT =02
8414 007136 001401 BEQ .+
8415 007140 104001 ERROR 1 :RXCSR SHOULD BE CLR
wg 007142 052777 000002 172542 BIS #DTR,IRXCSR :SET DTR
841 ;WAIT FOR CABLE DELAYS
(1) JEttARAtAtt Rttt R RO RO RRRRRRRRRNRRRNNRRTY
(1) :MODIFY "HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) X 113122 2222223222 2222222222222 2311¢%)
(1) 007150 016702 171744 MoV HOLD,R2 ;SET DELAY TIME
(1) 007154 00530 DEC R2
(1) 007156 001376 BNE -2 ;WALT THIS TIME
m :gglgog':egl.dggu Augugwéy TESTING. .eeuoceans
8418 007160 017701 nzszg MOV aRXCSR,R1 :ACTUAL
8419 007164 012700 13000 MOV #130002,R0 -DSC,CTS,CARDET,DTR
8420 007170 020001 CMP RO,R1 ;EXPECTED VS ACTUAL
b‘f? g%. ?8233} 2530:: i'l CHECK BYPASS CONNECTOR
84 § 7176 017701 172510 MOV arRxCSR,R1 :ACTUAL
3223 ;go 5 ml’ oaanns ?2! 33°2?2"°mm£‘6§'£‘c‘?851'°"‘
u$6 007 % 001401 BEQ L+ ’
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CNDUQA.M11  30-0CT=82 12:1 INITIALIZE THE COMMON TAGS SEQ 0047
8427 007212 104001 ERROR 1 ;PREVIOUS READING OF RXCSR SHOULD
8428 :HAVE CLEARED DSC
8429 007214 052777 000004 172470 8IS #RTS,ARXCSR
8¢ :WAIT FOR CABLE DELAYS
(1) JRARRAARAANRRETRRE RN AR AR RR AR AR AR AR ANS
N *MODIFY *WOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) (213333333320 233233233223323233323331333317]
(1) 007222 016702 171672 MOV HOLD,R2 :SET DELAY TIME
(1) 007226 005302 DEC R2
(1) 007230 001376 BNE =2 ;WALIT THIS TIME
(1 ;0K NOW FALL THRU AND CONTINUE TESTING......ee...
(1) *EXIT STAGE LEFT....CHINNNG
8431 007232 017701 172454 MOV aRXCSR
8432 007236 012700 170006 MOV 2170 06 ao :DSC ,RING,CTS,CARDET ,RTS,DTR
8433 007242 020007 CMP RO.R1  EXPECTED vS ACTUAL
8434 007244 001401 BEQ o
8435 007246 104001 ERROR 1 :CHECK BYPASS CONNECTOR
8436 007250 017701 172436 MOV aRXCSR,RY
8437 007254 012700 070006 MOV #70006 ,RO :RING,CTS,CARDET,RTS,DTR
8438 007260 020001 CMP RO.RT = ;EXPECTED VS ACTUAL
8439 007262 001401 BEQ l
8440 007264 104001 ERROR ;PREVIOUS READING OF RXCSR SHOULD
8441 *HAVE CLEARED DSC
8442 007266 105767 171655 TSTB  SEXMIT :IS SEC XMIT JUMPER IN ?
8443 007272 100112 BPL oUT2  :NO
8444 007274 105767 171650 1sT8 sengc :1S SEC REC JUMPER IN ?
8445 007300 100163 BPL *NO
3449 007302 052777 000010 172402 BIS #STD,aRXCSR
844 :WAIT FOR CABLE DELAYS
(1) 'ttt.tttt'ttt'tttt'tttt'ttt'tttttttttt
(1) SMODIFY "HOLD:** ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) . ttttttt.ttt.'Q"Q"t'Qtt.tt.tt.tttt'tt
(1) 007310 016702 171604 MOV HOLD,R2 :SET DELAY TIME
(1) 007314 005302 DEC R2
(1) 007316 001376 BNE =2 :WAIT THIS TIME
(1’ m m FALL t“'u A“D Cmtlu Tesrlmooo-oooooao
(1) SEXIT STAGE Lert....cuxuunc
8448 007320 017701 17;366 MOV aRXCSR
gg 007324 012700 173016 MASK1: MOV nnmém oun%%ganmnsmmm
8451 007330 020001 CMP RO,R1 :exvscreb VS ACTUAL
345§ 007332 001401 BEQ . +4
8453 007334 104001 ERROR 1 :CHECK BYPASS CONNECTOR
8454 007336 017701 172350 MOV SRXCSR,R1
g:ss 007342 012700 073016 MASK2: MOV #73016.R0 ::;gcﬁggs.cnaosr.sao.osa.sro
sl.?? 007346 020001 CMP RO,R1  ;EXPECTED VS ACTUAL
8458 007350 001401 BEQ 4
8459 007352 104001 ERROR 1 ;PREVIOUS READING OF RXCSR SHOULD
8460 *HAVE CLEARED DSC
8461 007354 042777 000002 172330 BIC #DTR,IRXCSR
8462 ;WAIT FOR CABLE DELAYS
(1) tttlt!tttttttt'lttttttttttt.tttttttttt
(1) SMODIFY *MOLD:"* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) CHRERARAR AR AR R RN R CERRR NN REENS
(1) 007362 016702 171532 MoV HOLD.R2 ;SET DELAY TIME
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CNDUGA.M11  30-0CT=82 12:11 INITIALIZE THE COMMON TAGS SEQ 0048
(1) 007366 005302 DEC R2
(1) 007370 001376 aus =2 :WAIT THIS TIME
(1) K NOW FALL THRU AND CONTINUE TESTING..c.eeveces
(1) exxr stuce Lert....cuxuuuc'
8463 007372 017701 17;31n ﬁov §
8464 007376 012700 143014 014 014 no DSC,RING,SRD,DSR,STD,RTS
8465 007402 020001 cnP RO,R1 expecrsb VS ACTUAL
ug 007404 001401 BEQ YA
8467 007406 104001 ERROR 1 :DSC SHOULD BE SET
8468 007410 042777 000004 172274 BIC #RTS,IRXCSR
8469 ;WAIT FOR CABLE DELAYS
(1) t'tttQ.tttt'iti'tt't"tt'!tQi.tittttlt
(1) SMODIFY "HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) 2 3333341332323 22333332321333331331333331]]
(1) 007416 016702 171476 MoV HOLD,R2 ;SET DELAY TIME
(1) 007422 005302 DEC R2
(1) 007424 001376 BNE <2 :WAIT THIS TIME
(1) ;0K NOW FALL THRU AND CONTINUE TESTING...........
(1) SEXIT STAGE Lsrr....cuxuunc
8470 oor&gg 017701 172260 MOV aRXCSR
8471 007432 012700 103010 MASK3: MOV nwobm :DSC,SRD,DSR,STD
8472 007436 020001 CMP RO.R1  ;EXPECTED vS ACTUAL
8473 007440 001401 BEQ +4
8474 007442 104001 ennoa i :DSC SHOULD BE SET
8475 007444 042777 000010 172240 BIC #STD,3RXCSR
8476 :WAIT FOR CABLE DELAYS
(1) ttttttttttttti.ttttttttttttttttttttttt
(1) .nooxrv *HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1 ) tttttitttttttttt"ttttttttttttittﬁttit
(1) 007452 016702 171442 MOV HOLD,R2 ;SET DELAY TIME
(1) 007456 005302 DEC R2
(1) 007460 001376 BNE -2 :WAIT THIS TIME
(1 :0K NOW FALL THRU AND CONTINUE TESTING...........
(1) *EXIT STAGE LEFT....CHINNNG'
8477 007462 017701 172224 MOV aRXCSR,R1
8478 007466 012700 100000 MOV ) 00006 RO
8479 007472 020001 CMP RO,R1 .sxpecteb vs ACTUAL
8480 007474 001401 BEQ .+
8481 007476 104001 ERROR 1 :DSC SHOULD BE SET
8482 007500 017701 172206 MOV aRXCSR,R1
8483 007504 005000 CLR RO : NONE
8484 007506 005701 ST R1
8485 007510 001401 BEQ L+
8486 007512 104001 ERROR 1 :DSC SHOULD BE CLEARED FROM PREVIOUS
8487 ueuoxnc OF RXCSR
8488 007514 000167 000254 JMP OUT1  :JUMP AROUND
8489 ;THE FOLLOWING ROUTINE WANDLES THE SITUATION WHERE SEC XMIT
8490 AND SEC REC JUMPERS ARE NOT ON
91 007520 052777 000010 172164 OUT2: BIS #STD,3RXCSR
92 ;WAIT FOR CABLE DELAYS
(1) JettRttRntt ettt et RNt AR AR RANRRERNRRRRRSE
(N “MODIFY *HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) 2 2333233233333 323233333333333333333313;]
(1) oorsgg 016702 171366 MoV ugto.nz :SET DELAY TIME
(1) 007532 00530 DEC
(1) 007534 0013

76 BNE "2 ;WALT THIS TIME
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CNDUQA.M11  30-0CT=-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0049
(1’ :ox ”ou FALL t“Ru A”D CMTIWE YESTING..'.‘......
(1) *EXIT STAGE LEFT....CHINNNG'
8493 007536 017701 172150 MOV aRXCSR,R1 sACTUAL
8494 007542 012700 070016 MOV #70016.R0 EXPECTED: RING ,CTS,CARDET,STD,RTS,DTR
8495 007546 020001 CMP RO,R1 = ;EXPECTED VS ACTUAL
3499 007550 001401 BEQ .+
8497 007552 104001 ERROR 1 :CHECK SEC XMIT & SEC REC JUMPERS
8498 007554 042777 000004 172130 BIC #RTS,IRXCSR
8499 ;WAIT FOR CABLE DELAYS
(1) :tttttﬁtttttttttttttttttttttttttttttttt
(N SMODIFY **HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) :ttt'.ttt.'i'ittt'ttt"tt.ttttt.ttttt't
(1) 007562 016702 171332 MOV HOLD,R2 ;SET DELAY TIME
(1) 007566 005302 DEC R2
(1) 007570 001376 BNE =2 ;WALT THIS TIME
(N ;0K NOW FALL THRU AND CONTINUE TESTING..coccocees
(1) :EXIT STAGE LEFT....CHINNNG!
8500 007572 017701 172114 MOV aRXCSR,R1 :ACTUAL
8501 007576 012700 130012 MOV #130012,R0 - :DSC,CTS,CARDET,DTR,STD
8502 :NOTE THAT DSC STILL ASSERTS EVEN THO THE SEC XMIT JUMPER # 6 IS NOT ON
8503 007602 020001 CMP RO,R1 ;EXPECTED VS ACTUAL
8504 007604 001401 BEQ .+
8505 007606 104001 ERROR 1 :CHECK BYPASS CONNECTOR
8506 007610 042777 000002 172074 BIC #DTR,ARXCSR
8507 :WAIT FOR CABLE DELAYS
(1) :tttttttttttttttttttitt'tttttttlttt!ttt
1 SMODIFY "WOLD:"* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
1) 23 133311123233 21233 2202323313323 311133333]
1) 007616 016702 171276 MOV HOLD,R2 ;SET DELAY TIME
1) 007622 005302 DEC R2
1) 007624 001376 BNE =2 ;WALT THIS TIME
1 :0K NOW FALL THRU AND CONTINUE TESTING....cceveces
1) “EXIT STAGE LEFT....CHINNNG'
8 007626 017701 172060 MOV aRXCSR,R1 sACTUAL
8 7632 012700 100010 MOV #100010, R0 :DSC,STD
8 007636 020001 CMP RO.R1  ;EXPECTED VS ACTUAL
8 007640 001401 BEQ .+
8 007642 104001 ERROR 1 ;ONLY DSC & STD SHOULD BE SET
& 007644 000167 000124 JMP OUT1  :JUMP AROUND
8 007650 052777 000010 172034 OuT3: BIS #STD,aRXCSR
£ :WAIT FOR CABLE DELAYS

Rt A AR EARERROOORNOROAREAOANRAOAAASRAGLTS

SMODIFY *WOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE

AL LA A AL A AL A AR A A AR A ad Al ilddl ]

VIV VNN o o o oy o, o, o o NNV N o o o o o o

N=O VI NO Y ww i ww AN W=D

007656 016702 171236 MoV HOLD,R2 :SET DELAY TIME
007662 005302 DEC R2
007664 001376 BNE =2 sWAIT THIS TIME
:“ m 'ALL '”Ru A“o CMTIM 'Estlmoo-oooooooo
*EXIT STAGE LEFT....CHINNNG'
8 oorsge 017701 172020 MOV aRXCSR,R1 ;ACTUAL
g 007672 015530 171016 MOV #171016,R0 *EXPECTED: DSC,RING,CTS,CARDET,DSR,STD,RTS,DTR
007676 020001 CMP RO.R1  :EXPECTED VS ACTUAL
8 007700 001401 BEQ +
5 007702 104001 ERROR 1 :CHECK SEC REC JUMPER
8 007704 042777 000004 172000 BIC #RTS,IRACSR
8 :WAIT FOR CABLE DELAYS
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CNDUQA.M11  30-0CT=-82 12:1 INITIALIZE THE COMMON TAGS , SEQ 0050
(1) 'iﬁttt.tttttttttt'ttt'Qtttttttttttttttt
(1) :MODIFY *'HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) 2 2332333133233 23233 3333823333333 3313333317]
(1) 007712 016702 171202 MoV HOLD,R2 :SET DELAY TIME
(1) 007716 005302 DEC R2
(1) 007720 001376 BNE =2 ;WAIT THIS TIME
(1) OK NOW FALL THRU AND CONTINUE TESTING..ceeeusess
(1) .EXIT STAGE LEFT....CHINNNG
8523 007722 017701 171764 MOV aRXCSR,R CTUAL
8524 0077 g 012700 131012 MOV 0131012 ao Expecreo DSC,CTS,CARDET,DSR,STD,DTR
8525 007732 020001 CMP no R1  :EXPECTED VS ACTUAL
8526 007734 001401 BEQ
8527 007736 104001 ERROR 1 cnecx H315 CONNECTOR
8528 007740 042777 000002 171744 BIC #DTR,ARXCSR
8529 :WAIT FOR CABLE DELAYS
(1) ttt'ttttttt!'tttt'tt.'tlt!ttll".t"l.!
(N *MODIFY *'HOLD:'* ACCORDINGLY FOR FASTER OR SLOWER MACHINE
(1) -tttttttttttttttt"ttttuntnntttntt
(1) 007746 016702 171146 MOV HOLD,R2 ;SET DELAY TIME
(1) 007752 005302 DEC R2
(1) 007754 001376 BNE <2 ;WAIT THIS TIME
(1 :0K NOW FALL THRU AND CONTINUE TESTING...evousee.
(1) *EXIT STAGE Lert....cux NNNG !
8530 007756 017701 171730 MOV arRXCS sACTUAL
8531 007762 012700 101010 MOV #1010 16 ao *EXPECTED: DSC,DSR,STD
85 766 020001 CMP RO,R1  EXPECTED VS ACTUAL
8533 007770 001401 BEQ e
5 887772 104001 ERROR 1 ;CHECK H315 CONNECTOR
3232 7774 ouT1:
8537 ::THIS TEST VERIFYS THAT RECACT (REC ACTIVE) ASSERTS
) ::IMMED. WHEN SYNC EXTERNAL MODE IS SELECTED
g}; .:AND SYNC SEARCH IS SET
(S) .o tttttttitttttttttttttttt'tttttttttttttttttttttttttttttttttttttt
52; 007774 000004 TS152: SCOPE
(3) 007776 052777 000400 171722 BIS #MRESET,aTXCSR ;MASTER RESET
cg) 010004 012777 020000 171710 MOV #SYNEXT,@PARCSR :SET THE MODE
52; 010012 052777 000400 171706 BIS #MRESET,@TXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
gg; 010020 012777 064001 171700 MOV #MTDATA! CLK'MINT !BREAK,@TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
(2) 010026 012777 026026 1716?6 MOV #SYNEXT 'EIGHT 'NOPAR 26, aPARCSR
(1) 010034 032777 004000 171650 BIT #RECACT,3RXCSR
(1) 010042 001401 BEQ Y
(UMW&W% ERROR & ;RECACT SHOULD NOT BE SET
(1) 010046 052777 000020 171638 BIS #SYNSCH,@RXCSR ;SET SYNC SEARCH
(1) 010054 032777 004000 17163 BIT #RECACT,RXCSR
(1) 010062 001001 BNE .+
(1) 010064 104 ERROR & ;RECACT DID NOT ASSERT
g}; 10066 062777 000020 171616 BIC #SYNSCH,BRXCSR :DROP SEARCH SYNC
(1) 010076 032777 004000 171610 BIT #RECACT,3RXCSR ;1S IT =0?
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14-DEC~82 09:56 PAGE 62-37
INITIALIZE THE COMMON TAGS

BEQ . +o

ERROR & sRECACT SHOULD BE 0

AND SYNC SEARCH IS SET

THIS TEST VERIFYS THAT RECACT (REC ACTIVE) ASSERTS
IMMED. WHEN ISOCRONOUS MODE IS SELECTED

SEQ 0051

o0
A AR A d iR iddddiididiiiiddddiiddiiiiidiiiidiiiddidididliddd]

TST53: SCOPE
171610 BIS #MRESET,@TXCSR ;MASTER RESET
171576 MOV #1SYMOD,aPARCSR ;SET THE MODE
171574 8IS #MRESET.ATXCSR ;MASTER RESET
;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
171566 MOV #MTOATA!CLK 'MINT !BREAK,3TXCSR
;SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
171554 MOV #1SYMOD'E IGHT !NOPAR ! 26, aPARCSR
171536 gg; 055cnct.aaxcsn
ERROR & ;RECACT SHOULD NOT BE SET
171524 BIS #SYNSCH,aRXCSR :SET SYNC SEARCH
171516 gag vgzcacr.aaxcsa
ERROR & ;RECACT DID NOT ASSERT
171504 BIC #SYNSCH,@RXCSR ;DROP SEARCH SYNC
171476 gg; cgfcnct.aaxcsa ;18 IT =0?
ERROR & ;RECACT SHOULD BE 0
::VERIFY THE MATCH DETECT & DATA RDY FLAGS BY PUMPING
:3IN TWO * SYNC CHARS THRU MAINT DATA BIT
:SWATCH THE RECACT BIT
S3ON THE THIRD * CHARACTER IT SHOULD SET RXDONE
::': DEPENDE"T ou MIT [ E XXX E X R E N KN
::1F ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
:3TAKE ONE SYNC CHARACTER FOR RXDONE TO ASSERT
::ON THE SECOND CHARACTER
23ALSO CHECK THIS CHARACTER IN RXDBUF
$3AND CHECK OPERATION OF SYNSCH
S3MODE: SYNC INTERNAL
*SLENGTH:FIVE
"ttitti;;tittttttttt't"iittttttttttitttiitttttttitttttttttiittﬁ
757154: SCOPE °
171476 BIS #MRESET,@TXCSR :MASTER RESET
171464 MOV #SYNINT.SPARCSR :SET THE MODE
171462 BIS #MRESET.@TXCSR :MASTER RESET
;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
171454 MOV #MTOATA! CLK'MINT 'BREAK,3TXCSR
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CNDUQA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0052
(2) '
(g) ;SET MODE ,# OF BITS,PARITY SENSE t50Ao SYNC REG
(2) 010252 012777 o;oogg 171442 MOV #SYNINT ! 7 IVE'NOPAR! 26, 3PARCSR
(1) 010260 01379; 1714 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
(2) 010264 052777 000020 171420 BIS #SYNSCH,ARXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) m%g 042777 020000 171426 BIC  “#CLK,@TXCSR ;POKE CLK DOWN
(2) 010 052777 020000 171420 BIS #CLK.STXCSR : POKE ;Lx uP
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 010306 042777 020000 171412 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 010314 Myn 020000 171404 BIS #CLK.3TXCSR :POKE CLK UP
(1) 010322 012767 000002 170574 MOV #2,COUNT ;
(1) 010330 01%767 000005 170522 1$: MOV #S.SHIFT :# OF SHIFTS i
(1) 010336 012767 000026 1711 MOV #26,5THP1 *SYNC CHARACTER | !
(1) 010346 004767 006554 JSR  PC,RPOKE |
(1) 010350 005367 170550 DEC OUNT ;
(1) 010354 001403 BEQ $ ;
(1) :TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED g
(1) 010356 105767 170564 TST8 ~ SYNCNO ;
(1) 010362 10076; BM] 1s ;TWO SYNC CHARS :
(1) 010364 105777 171322 28: TSTB  @RXCSR ;CHECK REC DONE BIT :
(1) 010370 100001 BPL .+ @
(1) 010372 104004 ERROR & ;RXDONE SHOULD NOT BE ASSERTED :
(1) 010374 032777 004000 171310 BIT #RECACT,3RXCSR
(1) 010402 001001 BNE .4
(1) 010406 104004 ERROR & ;RECACT SHOULD BE ASSERTED
(1) 010406 012767 000005 170506 MOV #5,SHIFT
(1) 81821‘ 12767 8822;1 171056 MOV #21,8THP1 ;ANY CHARACTER
(1) 010422 797 6 JSR PC,RPOKE
(1 01o4§3 105777 171260 TSTB  @RXCSR ;CHECK RXDONE
(1) 010432 100401 BMI .+
(1 0106;2 104004 ERROR 4 ;RXDONE SHOULD BE ASSERTED
(1) 010436 032777 004000 171246 BIT #RECACT,3RXCSR
(1) 010444 001001 BNE . +4 ;
(1) 010446 104004 ERROR 4 ;RECACT SHOULD STILL BE ASSERTED !
(1) 010450 042777 000020 171234 BIC #SYNSCH,BRXCSR ;CLR SYNC SEARCH ;
(1) 810456 032777 004000 171226 BIT #RECACT.SRXCSR :IT SHOULD DROP IMMEDIATELY |
(1) 010464 001401 BEQ 4 ;
(1) 010466 104004 ERROR 4 ;RECACT SHOULD BE CLR |
(1) 0106470 105777 171216 TSTB  @RXCSR ;RXDONE
(1) 010474 100401 BMI .4
(1) 010476 104004 ERROR & RXDONE SHOULD STILL BE ASSERTED
(1) 010500 01;700 000021 MOV #21,R0 :EXPECTED DATA
(1) 010504 017701 171206 MOV aRXDBUF ,R1 ;ACTUAL DATA
(1) 010510 020001 CMP RO.R1 “;COMPARE EXP VS ACT
(1) 010512 001401 BEQ +4
(1) 010514 10400; ERROR 2 :DATA CHARS SHOULD COMPARE
1 10513 105777 171170 TSTB  @RXCSR :CHECK RXDONE
(1) 1055 100001 BPL .+
(1) 010524 104004 ERROR & :RXDONE SHOULD BE CLR FROM |
5}; :PREVIOUS READING OF RXDBUF |

8540 :;VERIFY THE MATCH DETECT & DATA RDY FLAGS BY PUMPING

(1) 2:IN TWO * SYNC CHARS THRU MAINT DATA BIT
(1) JWATCH THE RECACT BIT
(1) ::0N THE THIRD % CHARACTER IT SHOULD SET RXDONE
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CNDUQA.M1* 30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0053

*: DEPENDENT ON MONITOR.

(1) :: EEEE X R NN LN

(1) $3IF ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
(1) S:TAKE ONE SYNC CHARACTER FOR RXDONE TO ASSERT

1) $:ON THE SECOND CHARACTER

(1) $3ALSG CHECK THIS CHARACTER IN RXDBUF

(1) $:AND CHECK OPERATION OF SYNSCH

(1) $3MODE: SYNC INTERNAL

g}; :SLENGTH:SIX

(5) . :tttttt;;tttttttttttttt'tttt'ittttttttltttttttttt'ittitt!ttttt'.
g:; 010526 000004 T$155: SCOPE

(3) 010530 052777 000400 171170 BIS #MRESET,@TXCSR ;MASTER RESET

<%) 010536 012777 030000 171156 MOV #SYNINT.@PARCSR :SET THE MODE

52; 010544 052777 000400 171154 BIS #MRESET.@TXCSR :MASTER RESET

2) ;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

§§§ 010552 012777 064001 171146 MOV #MTDATA! CLK 'MINT !BREAK , 3TXCSR

(2) :SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG

(2) 010560 012777 032026 171134 MOV #SYNINT!SIX!NOPAR! 26,3PARCSR

(1) 010566 016703 171124 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
(2) 010572 052777 000020 171112 8IS #SYNSCH,ARXCSR :SET SYNC SEARCH

(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 010600 042777 020000 171120 BIC #CLK,@TXCSR ;POKE CLK DOWN

(2) 010606 052777 020000 171112 BIS #CLK.@TXCSR *POKE CLK UP

(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(s) 010614 3‘ 777 020000 171104 BIC #CLK,3TXCSR :POKE CLK DOWN

(2) 010622 052777 020000 171076 BIS chx.arxcsa :POKE CLK UP

(1) 010630 012767 000002 170266 MOV #2,COUNT

(1) 010636 012767 000006 170256 1$: MOV #6.SHIFT :# OF SHIFTS

(1) 010644 012767 000026 170626 MOV #26,$THP1 $SYNC CHARACTER

(1) 010652 004767 006246 JSR PC, RPOKE

(1) 010656 005367 170242 DEC COUNT

(1) 010662 001403 BEQ 2$

(1 TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
(1) 010664 105767 170256 TSTB ~ SYNCNO

(1) 010670 100762 BM] 1s :TWO SYNC CHARS

(1) 010672 105777 171014 28: TSTB  @RXCSR :CHECK REC DONE BIT

(1) 010676 1 BPL . +4

(1) 010700 104004 ERROR & ;RXDONE SHOULD NOT BE ASSERTED
(1) 010702 032777 004000 171002 BIT #RECACT,3RXCSR

(1) 010710 001001 BNE 44

(1) 010712 104004 ERROR 4 ;RECACT SHOULD BE ASSERTED
(1) 010714 012767 000006 170200 MOV #6,SHIFT

(1) 010722 012767 oooo;1 170550 MOV #21,8TMP1 :ANY CHARACTER

(1) 010730 004767 006170 JSR PC, RPOKE

(1) 010734 105777 170752 TSTB  @RXCSR :CHECK RXDONE

(1) 010740 100401 BMI L+

(1) 010742 104004 ERROR 4 ;RXDONE SHOULD BE ASSERTED
(1) 70744 332777 004000 170740 BIT #RECACT,ARXCSR

(1) ¢10752 001001 BNE 4

(1) 010756 104 ERROR 4 ;RECACT SHOULD STILL BE ASSERTED
(1) 010756 3‘37 7 000020 170758 BIC #SYNSCH,@RXCSR  :CLR SYNC SEARCH

(1) 010764 032777 004000 1707 BIT #RECACT.@RXCSR :IT SHOULD DROP IMMEDIATELY
(1) 010772 001401 BEO Y

S |
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CNDUQ=AQ MACY11 30(1046) 14=DEC=82 09:56 PAGE 62-40
CNDUQA.M11  30-0CT=-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0054
010774 104 ERROR & ;RECACT SHOULD BE CLR
010776 105777 170710 TSTB  @RXCSR ;RXDONE
011002 100401 BMI . +4
011004 104004 ERROR & :RXDONE SHOULD STILL BE ASSERTED
011006 012700 000021 MOV #21,R0 ;EXPECTED DATA
011012 017701 170700 MOV aRXDBUF ,R1 ;ACTUAL DATA
011016 020001 CMP RO,R1 ;COMPARE EXP VS ACT
011020 001401 BEQ +4
011022 104002 ERROR 2 ;DATA CHARS SHOULD COMPARE
011024 105777 170662 TSTB  @RXCSR :CHECK RXDONE
011030 100001 BPL .+
011032 104004 ERROR & :RXDONE SHOULD BE CLR FROM

sPREVIOUS READING OF RXDBUF

ssVERIFY THE MATCH DETECT & DATA RDY FLAGS BY PUMPING
ssIN TWO = SYNC CHARS THRU MAINT DATA BIT

ssWATCH THE RECACT BIT

ssON THE THIRD * CHARACTER IT SHOULD SET RXDONE
:;': DEPENDE"T 0“ mnlton.............

ss1F ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
ssTAKE ONE SYNC CHARACTER FOR RXDONE TO ASSERT
s2sON THE SECOND CHARACTER

ssALSO CHECK THIS CHARACTER IN RXDBUF

:sAND CHECK OPERATION OF SYNSCH

s;MODE: SYNC INTERNAL

:;LENGTH: SEVEN
.o lttttt;;ttttttttt'ttt'ttttttttttttttttttttittttti.tt!tttt'tttti
000004 t§156: SCOPE
011036 052777 000400 170662 BIS #MRESET,@TXCSR ;MASTER RESET
011044 012777 030000 170650 MOV #SYNINT,@PARCSR :SET THE MODE
011052 052777 000400 170646 BIS #MRESET,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK ,EMAINTENANCE MODE
MoV #MTDATA!CLK!MINT!BREAK,3TXCSR

sSET MODE .# OF BITS,PARITY SENSE,ELOAD SYNC REG

P e e e e e L . Y Y Y Y Y Y T T T T T T T T N e e el laleolalalalele le)

N N P N N N N N N P NP N P NP P P P N N N N P N N N N N N o N N b N P N P T b N P N ) N P N S N S P i b i b i b
o
s
=3
g

011066 012777 034026 170626 MOV #SYNINT! SEVEN!NOPAR ! 26, aPARCSR
0110764 016703 170616 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
011100 052777 000020 170604 BIS #SYNSCH,BRXCSR :SET SYNC SEARCH

:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
011106 045777 020000 170612 BIC #CLK,aTXCSR :POKE CLK DOWN
011114 052777 020000 170604 BIS #CLK.STXCSR :POKE CLK UP

;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

011155 045777 020000 170576 BIC #CLK,@TXCSR :POKE CLK DOWN
0111 85 777 020000 170570 BIS #CLK.ATXCSR :POKE CLK UP
011136 012767 80000; 167760 MOV #2,COUNT
011144 012767 167750 18: MOV #7.SHIFT :# OF SHIFTS
011152 012767 oogoze 170320 MOV #26,$THP1 *SYNC CHARACTER
011160 004767 005740 JSR PC, RPOKE
011194 005367 167734 DEC OUNT
011170 001403 BEO s

TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
011172 105767 167750 TSTB ~ SYNCND
011176 100762 BMI 1s :TWO SYNC CHARS
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CNDUQ=AQ MACY11 30(1046) 14=DEC=82 09:56 PAGE 62-41
CNDUGA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0055
(1) 011200 105777 170506 2s: TSTB  @RXCSR ;CHECK REC DONE BIT
(1) 011206 100001 BPL . +4
(1) 011206 104004 ERROR 4 ;RXDONE SHOULD NOT BE ASSERTED
(1) 011210 032777 004000 170474 BIT #RECACT,3RXCSR
(1) 011216 001001 BNE 44
(1 0112%0 104004 | ERROR 4 ;RECACT SHOULD BE ASSERTED
(1) 011222 012767 000007 167672 MOV #7,.SHIFT
(1) 011230 012767 000021 170242 MOV #21,8TMP1 ;ANY CHARACTER
(1) 011236 004767 005662 JSR PC,RPOKE
(1) 011242 105777 170444 TSTB  @RXCSR :CHECK RXDONE
(1) 011246 100401 BMI L+
(1) 011250 104004 ERROR & ;RXDONE SHOULD BE ASSERTED
(1) 011252 032777 004000 170432 BIT #RECACT,3RXCSR
(1) 011260 007001 BNE .+
(1) 011262 104004 ERROR 4 ;RECACT SHOULD STILL BE ASSERTED
(1) 011264 042777 000020 170420 BIC #SYNSCH,@RXCSR :CLR SYNC SEARCH
(1) 011272 032777 004000 170412 BIT #RECACT.ARXCSR :IT SHOULD DROP IMMEDIATELY
(1) 011300 001401 BEQ .4
(1) 011302 104004 ERROR 4 ;RECACT SHOULD BE CLR
(1) 011304 105777 170402 TSTB  SRXCSR ;RXDONE
(1) 011310 100401 BMI Y
(1) 011312 104004 ERROR & :RXDONE SHOULD STILL BE ASSERTED
(1) 011314 012700 000021 MOV #21,R0 ;EXPECTED DATA
(1) 011320 017701 170372 MOV aRXDBUF , R1 sACTUAL DATA
(1) 011324 020001 CMP RO.R1  ;COMPARE EXP VS ACT
(1) 011326 001401 BEQ Ry
(1) 011330 104002 ERROR 2 :DATA CHARS SHOULD COMPARE
(1) 811332 105777 170354 TSTB  @RXCSR :CHECK RXDONE
(1) 011336 100001 BPL . +4
(1) 011340 104004 ERROR & :RXDONE SHOULD BE CLR FROM
5}; :PREVIOUS READING OF RXDBUF
8542 :sVERIFY THE MATCH DETECT & DATA RDY FLAGS BY PUMPING
(1) S3IN TWO * SYNC CHARS THRU MAINT DATA BIT
M ::WATCH THE RECACT BIT
(1) $:ON THE THIRD * CHARACTER IT SHOULD SET RXDONE
(1) 2:%: DEPENDENT ON MONITOR. ..o ovevcceecs
(1) ::IF ONE SYNC STRAP IS SELECTED THEN IT WILL ONLY
(1) ::TAKE ONE SYNC CHARACTER FOR RXDONE TO ASSERT
(1) ::ON THE SECOND CHARACTER
(1) $3ALSO CHECK THIS CHARACTER IN RXDBUF
(1) *:AND CHECK OPERATION OF SYNSCH
(1) S:MODE: SYNC INTERNAL
g}; *LENGTH:EIGHT
(5) 22 tttttt;;tttttttttttittttttttt'itttttttttittttttt*ttttttttt.titt
(4) 011342 000004 TS157: SCOPE

-~
W
~

011344 052777 000400 170354 BIS #MRESET,@TXCSR ;MASTER RESET
(2) 011352 012777 030000 170342 MOV #SYNINT ,@PARCSR ;SET_THE MODE
52; 011360 052777 000400 170340 BIS #MRESET ,@TXCSR ;MASTER RESET
(2)

A

:SET HAI:BVDATA.CLK.BREAK.OHAIN!ENANCE MODE

-~

§ 011366 012777 064001 170332 #MTDATA!CLK!MINT!BREAK ,@TXCSR
(2) sSET MODE .# OF BITS,PARITY SENSE,.BLOAD SYNC REG

L)
b




CNDUQ=A0 MACY11 30(1046) 14=DEC=82 09:56 PAGE 6242

CNDUQA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0056
(2) 011374 012777 036026 170320 MOV #SYNINT!EIGHT !NOPAR!26,3PARCSR
(1) 011402 016703 170310 MOV RXDBUF ,R :SET UP FOR ERROR MESSAGE
(2) 011406 052777 000020 170276 BIS #SYNSCH,@RXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 011414 042777 020000 170304 BIC #CLK,TXCSR :POKE CLK DOWN
(2) 011422 052777 020000 170276 BIS #CLK.@TXCSR *POKE CLK UP
(%) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 011430 042777 020000 170270 BIC #CLK,ITXCSR :POKE CLK DOWN
(2) 011436 052777 020000 170262 BIS #CLK.TXCSR :POKE CLK UP
(1) 011446 012767 000002 167452 MOV #2,COUNT
(1) 011452 012767 000010 167442 18: MOV #8.,SHIFT :# OF SHIFTS
(1) 011460 012767 000026 170012 MOV #26,$THP1 *SYNC CHARACTER
(1) 011466 004767 005432 JSR PC, RPOKE
(1) 011472 005367 167426 DEC COUNT
(1) 011476 001403 BEQ 2s
(N TEST SYNCNO TO SEE HOW MANY SYNC CHARS WERE SELECTED
(1) 011500 105767 167442 TSTB  SYNCNO
(1) 011504 100762 BMI 13 :TWO SYNC CHARS
(1 011503 105777 170200 28: TSTB  @RXCSR :CHECK REC DONE BIT
(1) 011512 100001 BPL .+
(1) 011514 104004 ERROR & ;RXDONE SHOULD NOT BE ASSERTED
(1) 011516 032777 004000 170166 BIT ' #RECACT,aRXCSR
(1) 011526 001001 BNE .+ .
(1) 011526 104004 ERROR & :RECACT SHOULD BE ASSERTED
(1) 011530 012767 000010 167364 MOV #8.,SHIFT
(1) 011536 012767 000021 167734 MOV #21.$THP1 ;ANY CHARACTER
(1) 011544 004767 005354 JSR PC, RPOKE
(1) 011550 105777 170136 TSTB  @RXCSR ;CHECK RXDONE
(1) 011556 100401 BMI .+
(1) 011556 104004 ERROR & ;RXDONE SHOULD BE ASSERTED
(1) 011560 032777 004000 170124 BIT #RECACT,3RXCSR
(1) 011566 001001 BNE .+
(1) 011570 104004 ERROR 4 :RECACT SHOULD STILL BE ASSERTED
(1) 011572 042777 000020 170112 BIC #SYNSCH,@RXCSR :CLR SYNC SEARCH
(1) 011600 032777 004000 170104 BIT #RECACT.@RXCSR :IT SHOULD DROP IMMEDIATELY
(1) 011606 001401 BEQ YA
(1) 011610 104004 ERROR 4 ;RECACT SHOULD BE CLR
(1) 011612 105777 170074 TSTB  @RXCSR ;RXDONE
(1) 011616 100401 I . +4
(1) 011620 104004 ERROR 4 :RXDONE SHOULD STILL BE ASSERTED
(1) 011622 012700 000021 MOV #21,R0 :EXPECTED DATA
(1) 011626 017701 170064 MOV aRXDBUF ,R1 :ACTUAL DATA
(1) 011632 020001 CMP RO.R1  :COMPARE EXP VS ACT
(1) 01163& 001401 BEQ YA
(1) 011636 10400 ERROR 2 :DATA CHARS SHOULD COMPARE
(1) 011640 105777 170046 TSTB  @RXCSR :CHECK RXDONE
(1) 011644 100001 B8PL . +4
(1) 011646 104004 ERROR 4 :RXDONE SHOULD BE CLR FROM
g}; :PREVIOUS READING OF RXDBUF

8543 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE

(1 *SRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) $:TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) : : (OVRRUN, RXERR)
(1) : SMODE : 1 SYMOD
(1) :SLENGTH:FIVE
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' CNDUQ=AQ MACY11 30€1046) 14=DEC-82 09:56 PAGE 62-43
'CNDUQA.M11  30-0CT=-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0057
| g}; : ;CHAR: 25
| (S) . 'tttttt;;tttttt'tt"t""t"'.'t.iﬁ'ﬁ!QQ.QQQQQ'Q!l't.""""t.'
i {2; 011650 000004 TS$160: SCOPE
L (3) 011652 052777 000400 170046 BIS #MRESET,@TXCSR :MASTER RESET
| <§) 011660 012777 000000 170034 MOV #1SYMOD,3PARCSR :SET THE MODE
| fz; 011666 052777 000400 170032 BIS #MRESET,3TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE
gg; 011674 012777 064001 170024 MOV #MTDATA! CLK 'MINT !BREAK,3TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
(2) 011702 012777 000000 170012 MOV #1SYMOD ' F IVE 'NOPAR ' 0, 3PARCSR
(2) 011710 052777 000020 167774 BIS #SYNSCH,@RXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 011716 042777 020000 170002 BIC #CLK,ATXCSR :POKE CLK DOWN
(2) 011724 052777 020000 167774 BIS #CLK ,@TXCSR :POKE CLK UP
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 011732 042777 167766 BIC #CLK,ITXCSR :POKE CLK DOWN
(2) 011740 052777 020000 167760 BIS #CLK.ATXCSR :POKE CLK UP
(1) 011746 016703 167744 MOV RXDBUF ,R3 SET UP FOR ERROR MESSAGE
(1) 011752 012700 000025 MOV #25,R0° ;EXPECTED
(1) 011756 012767 000007 167136 MOV #7,SHIFT :# OF SHIFTS
(1) 011764 012767 000152 167506 MOV #152,8THP1 :DATA CHAR
(1) 011772 004767 005126 JSR PC,RPOKE *SHIFT IN THIS CHAR
(1) 011776 105777 167710 TSTB  @RXCSR ;RXDONE ?
(1) 813002 100401 BMI . +4
(1) 012006 104004 ERROR & :RXDONE SHOULD BE SET
(1) 012003 017701 167704 MOV aRXDBUF ,R1 +ACTUAL
(1) 012012 020001 CMP RO.R1 ~:;COMPARE EXPECTED VS. ACTUAL
(1) 012014 001401 BEQ \ +h
(1) 012016 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1 :EXPECTED DATA = CHECK MAINT DATA
1 :OR RECEIVER LOGIC
(1) 012020 012767 000007 167074 MOV #7,SHIFT :# OF SHIFTS
(1) 012026 012767 000152 167444 MOV #152,8TmP1 :DATA CHAR
(1) 012034 004767 005064 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 012040 012767 000007 167054 MOV #7,SHIFT :# OF SHIFTS
(1) 012046 012767 000152 167424 MOV 152,311 :DATA CHAR
(1) 012054 004767 005044 JSR PC , RPOKE SSHIFT IN THIS CHAR
(1) 012060 012700 140025 MOV #140000'25,R0  :EXPECTED DATA PLUS
(1) :RXERR & OVRRUN
(1) 012064 017701 167626 MOV aRXDBUF ,R1 SACTUAL
(1) 012070 020001 CMP RO.R1 ~;COMPARE EXP VS. ACT
(1) 012072 001401 BEQ 4
(1) 012076 104602 ERROR 2 sSPECIFICALLY LOOK AT RXERR 2
g}; :OVRRUN BITS...THEY BOTH SHOULD BE SET
8544 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1) ::RECEIVER SECTION,IT USES THE ERROR FLAGS
(1 ::T0O DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) 22(OVRRUN,RXERR)
(1) * SMODE : I SYMOD
(1 :LENGTH:FIVE
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' CNDUQ=AQ MACY11 30(1046) 14=DEC-82 09:56 PAGE 62-44
,cuouon.n11 30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0058
i :}; ;5 CHAR:12
(S) tttttittttttttttttttttttttttttttiittttttttttttttttttttttttttttt
52; 012076 000004 , t8161: SCOPE
(3) 012100 052777 000400 167620 8IS #MRESET,ATXCSR ;MASTER RESET
(2) 012106 012777 000000 167606 MOV #1SYMOD,3PARCSR :SET THE MODE
gg; 012114 052777 000400 167604 8IS #MRESET.STXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,SMAINTENANCE MODE
gg; 012122 012777 064001 167576 MOV #MTDATA! CLK ! MINT !BREAK,3TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE ckoao SYNC REG
(2) 012130 012777 000000 167564 MOV #1SYMOD' F IVE 'NOPAR'0,aPARCSR
(2) 012136 052777 000020 167546 BIS #SYNSCH.BRXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 012144 042777 020000 167554 BIC #CLK,3TXCSR :POKE CLK DOWN
(2) 012152 052777 020000 167546 BIS #CLK.STXCSR :POKE CLK UP
(2) ;POKE CLK TO GET LOGIC INTO svnchouxzarxon
(2) 012160 042777 020000 167540 BIC #CLK,@TXCSR : POKE ch DOWN
(2) 012166 052777 020000 167532 BIS chx.atxcsa :POKE CLK UP
(1) 012176 016703 167516 MOV UF ,R3 :SET UP FOR ERROR MESSAGE
(1) 012200 012700 000012 MOV 012 no ;EXPECTED
(1) 012206 012767 000007 166710 MOV 138 :# OF SHIFTS
(1) 012212 012767 000124 167260 MOV a1é4 srnp1 :DATA CHAR
(1) 012220 004767 004700 JSR PC , RPOKE f,sum IN THIS CHAR
(1) 012224 105777 167462 TSTB  @RXCSR ;RXDONE
(1) 012530 100401 BM] .4
(1) 012232 104004 ERROR & : RXDONE SHOUtD BE SET
(1) 01223& 017701 167456 MOV aRXDBUF ,R1 ACTUAL
(1) 012240 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1) 012242 001401 BEQ RYA
(1) 012246 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) :EXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 012246 012767 07 166646 MOV #7,SHIFT :# OF SHIFTS
(1) 012254 012767 000124 167216 MOV 7124 ,$THP1 :DATA CHAR
(1) 012262 004767 004636 JSR PC , RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A secono CHARACTER® UITHOUT nsno:ns RXDBUF
(1) 012266 01%767 166626 MOV SHIFT # OF SHIFTS
(1) 012274 012767 000124 167176 MOV nasmm mnawm
(1) 012302 004767 004616 JSR SSHIFT IN THIS CHAR
g}; 012306 012700 140012 MOV c1£oooo'1z RO Expsgrsooea;aupLus
(1) 012312 017701 167400 MOV aRXDBUF ,R1 ACTUAL
(1) 012316 020001 CMP ROLR1  *:COMPARE  EXP VS. ACT
(1) 012320 001401 BEQ +4
(1) 012322 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR &
g}; :OVRRUN BITS...THEY BOTH SHOULD BE SET
8545
8546

;END OF PASS

s TYPE NAME OF I'EST
UPDATE PASS COUNT

sCHECK FOR EXIT TO ACT-1

e e )
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0 MACY11 30(1046) 14=DEC-82 09:56 PAGE 62-45
M1 30-0CT-82 12:1 INITIALIZE THE COMMON TAGS SEQ 0059
;RESTART TEST
012324 000004 .EOP:  SCOPE
o123§e 004767 000340 JSR PC,CKSWR
012332 104401 TYPE :TYPE NAME OF TEST
01233¢ 015463 MEPASS
012336 104413 012570 CONVRT ,OUTCRY
012342 104401 015302 TYPE  ,DEVICE
o12§4 105767 166600 ISTB  MULTD  ;ARE YOU RUNNING MULTIPLE DEVICES ?
012352 001511 BEQ cce *NO,JUMP AROUND
01235¢ 005767 166606 TST ACTREG :ARE ANY DEVICES ACTIVE ?
012360 001007 BNE RUNIT  :YES
012362 104401 015314 TYPE  ,MCOW :NO
ma§ 016700 166574 MOV mmwab :DISPLAY ACTREG
012372 000000 HALT SELECT SOMETHING TO RUN @ ACTREG
:SELECT SWITCHES & HIT CONTINUE (PUT SWO00 =1)

012374 000167 167552 JMP .START ;START OVER AGAIN...... YOU DESELECTED EVERYTHING
012400 062767 000010 166546 RUNIT: ADD #10,BASEADD ;NEXT BLOCK (ADDRESSES)
012406 062767 000010 166546 ZERO: ADD #10.BASELV sNEXT BLOCK (VECTORS)
012414 000241 cLe
012416 006167 166546 ROL ROTADD ;UP DATE ROTATING POINTER
012422 103410 BCS 2 $1S IT THE LAST DEVICE

*T0 BE TESTED IN THIS PASS ?
012424 036767 166540 166534 BIT ROTADD,ACTREG  ;TEST THIS DEVICE FOR ACTIVE STATUS
012432 001762 BEQ RUNIT ~ ;IF NOT ACTIVE, TRY NEXT ADDRESS
012434 004767 000034 JSR PC,REPLAY :CALCULATE NEW PARAMETERS
012440 000167 000210 JMP RESTRT ;YES IT WAS ACTIVE TEST THIS DEVICE
012444 012767 000001 166516 28: MOV #1,ROTADD ;0K!,NOW SET UP ROTATING

;POINTER  FOR uexr MULTIPLE pass
012452 016767 166500 166474 MOV KEEPADD ,BASEADD ;RESTORE BASE ADDRESS
012460 016767 166500 166474 MOV KEEPIV,BASEIV  :RESTORE BASE INTERRUPT VECTORS
012466 004767 000002 JSR PC,REPLAY *CALC NEW PARAMETERS
012472 000441 BR ccé : JUMP AROUND REPLAY
012474 016767 166454 004420 REPLAY: MOV BASEADD,DUBASE ;SET UP FOR NEW ADDRESSES
012502 004767 004262 JSR PC ,DUADDR :CREATE NEW ADDRESSES
012506 016767 166450 167222 MOV BASEIV,DURIV  ;CREATE DURIV
012514 062767 000002 166440 ADD #2,BASEIV
012522 016767 166434 167210 MOV ansenv DURIS  :CREATE DURIS
012530 062767 000002 166424 ADD BASEIV
012536 016767 166420 167176 MOV BASEIV DUTIV  :CREATE DUTIV
012544 062767 000002 166410 ADD BASEIV
012552 016767 16?606 167164 MOV BASEIV DUTIS  ;CREATE DUTIS
012560 016767 167152 166374 MOV DURIV,BASEIV  :RESTORE
012566 RTS PC
012570 000001 OUTCRY: 1
012572 002 .BYTE 6.2
0125764 001712 RXCSR
012576 ccc:
012576 005067 166600 CLR STSTNM :CLEAR TEST NUMBER
012602 005067 166210 CLR SERRPC :CLEAR LAST ERROR PC
012 005067 166571 CLR SERFLG :CLEAR ERROR FLAG
01261 5267 166576 INC PASCNT SUPDATE PASS COUNT
012616 016767 166 7g 166253 MOV PASCNT,LIGHTS :DISPLAY PASS COUNT
012626 016767 166262 16670 MOV PASCNT.SPASS *PASS COUNT TO APT
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CNDUQ=A0 MACY11 30(1046) 14=DEC=82 09:56 PAGE 62-46
CNDUGA.M11  30-0CT-82 12:11 INITIALIZE THE COMMON TAGS SEQ 0060
(2) 012632 013701 000042 MOV ane2,R1 :CHECK FOR ACT=11 OR DDP
(2) 0126 oo1¢og BEQ RESTRT :1F NO CONTINUE TESTING
(2) 012640 00000 RESET
(2) 012642 000005 RESET
(2) 012646 004711 SENDAD: JSR PC,(R1)
(2) 012646 000240 NOP
(2) 012650 000240 NOP
<%> 012652 000240 NOP
(2) 012654 RESTRT:
(%> 012654 012767 003376 166524 MOV #TST1+2,8LPADR ;LOAD LAST ADDR
(2) 012662 004767 000004 JSR PC,CKSWR
g; 012666 000167 170416 JMP .BEGIN
(2) ;CHECK SWITCH REGISTER ROUTINE.
) :CHECKS TO ALLOW FOR <*G> TO ALLOW
gg; *THE CHANGING OF LOCATION 176
(2) 012672 005737 000042 CKSWR: TST ane2
(2) 012676 001040 BNE ouT
(2) 012700 022767 000176 166532 CMP #SWREG, SWR ;SOFTWARE SWR PRESENT?
(2) 012706 001034 BNE ouT :NO==LEAVE
(2) 012710 105777 166530 TST8  as$TKS :CHECK TTY READY
(2) 012714 100031 BPL ouT :NO==LEAVE
(2) 012716 017767 166524 000422 MOV asTkB, .MSG *GET CHARACTER
(2) 012726 042767 177600 000414 BIC #177600,.M56  :STRIP JUNK
(2) 012732 122767 000007 000406 CMPB  #7,.MSG SIS IT <G> ?
(2) 012740 001017 BNE out :NO
¢5> 013742 104401 81 070 TYPE MCNTG
(2) 012746 005137 013006 CNTLU: COM S#RDSW
(2) 012752 104401 016100 TYPE  ,MMSWR
(2) 012756 104413 CONVRT
(2) 012760 013010 SWREGL
(2) 012762 104406 016111 INSTR, MMNEW
(2) 012766 104410 PARAM
(2) 012770 000000 0
(2) 012772 177777 177777
(2) 012774 000176 SWREG
(2) 012776 000 001 .BYTE 0,
(2) 013000 005037 013006 OUT:  CLR aNRDSW
(2) 013004 000207 RTS PC
(2) 013006 000000 RDSW: .WORD O
(2) 013010 000001 SWREGL: 1
(2) 013012 006 002 BYTE 6,2
gg; 013014 000176 SWREG
{5; 013016 000005 5
gg; ;CHECK FOR FREEZE ON CURRENT DATA
(2) 013020 004767 177646 .SCOP1: JSR PC,CKSWR
(g) 013024 032777 001000 166406 BIT #5W09, aSWR
(2) 013032 001402 BEQ 1%
«5) 013034 016716 166050 MOV LOCK, (SP)
(2) 013040 000002 18: RTI
gs; .SBTTL TYPE ROUTINE
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| CNDUQ=AQ MACY11 30(1046) 14-DEC-82 09 se PAGE 62-47
CNDUQA.M11  30-0CT=82 12:1 TYPE ROUTINE SEQ 0061
(3) tttttttﬁtttittttii'i'ttt'iitt'tttttttttttttttttttittti.tttttt't
(%) %ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A O BYTE.
(2) :«THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
(%> S eNOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
(2) eNOTE?2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
{%} ; *NOTE3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
(2) CAL
(2) -1) usxns A TRAP xnsraucrlon
ﬁ ; s TYPE  ,MESADR ::MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
t
(2) e TYPE
(2) e ME SADR
) »
(5) 013042 105767 166411 STYPE: TSTB  STPFLG ::18 ruene A TERMINAL?
(2) 013046 100002 BPL 18 ::BR IF
(2) 013050 00 HALT SIHALT usns IF NO TERMINAL
(2) 013052 30 BR 38 SLEAVE
(2) 013056 010046 18: MOV RO,=(SP) :SAVE RO
(2) 013056 017600 000002 MOV a2(sP) RO PiGET ADDRESS OF ASCIZ STRING
(2) 013062 122767 000001 166456 CMPB  #APTENV,SENV  ::RUNNING IN APT MODE
(2) 013070 001011 BNE 623 $iNO,GO CHECK FOR APT CONSOLE
(2) 013072 132767 000100 166447 BITB  #APTSPOOL,SENVM ..SPOOL MESSAGE TO APT
(2) 013100 001405 BEQ 62% GO CHECK FOR CONSOLE
(2) 013102 010067 000004 MOV RO,61% sefup MESSAGE ADDRESS FOR APT
(2) 013106 004767 164674 JSR PC.SATY3 $ 4 SPooL nessnse ro APT
«5> 013112 61$:  .WORD O ..nessase
(2) 01311 923929 000040 166425 62%: BITB  #APTCSUP,SENVM ::APT CONSOLE suppaesseo
(2) 013122 001003 BNE 608 $3YES,SKIP TYPE OUT
(2) 013124 112046 28: MOVEB  (RO)+,=-(SP) "wwcmmumromrwmomomux
(2) 013126 001005 BNE 48 S:BR IF IT ISN'T THE TERMINATOR
(2) 013130 005726 ST (SP)+ $:1F TERMINATOR POP IT OFF THE STACK
(2) 013132 012600 608: MOV (SP)+,RO :SRESTORE RO
(2) 013136 062716 000002 3$: ADD #2,(SP) :3ADJUST RETURN PC
(2) 013140 000002 RTI *RETURN
(2) 013142 122716 000011 4$: CMPB  #HT,(SP) :SBRANCH IF <HT>
(2) 013146 001430 BEQ £
(2) 013150 122716 000200 CMPB  #CRLF,(SP) ::BRANCH IF NOT <CRLF>
(2) 013154 001006 BNE 13
(2) 013156 005726 ST (SP)+ :3POP  <CR><LF> EQUIV
(2) 013160 104401 TYPF ::TYPE A CR AND LF
(2) 013162 001523 $THLF
(2) 013164 105067 000130 CLRB  SCHARINT ;;CLEAR CHARACTER COUNT
(2) 013170 000755 B8R 28 :3GET NEXT CHARACTER
(2) 013172 004767 000056 5%: JSR PC,STYPEC 16O TYPE Tlls CHARACTER
(2) 013176 126726 166254 68: (MPB  SFILLC.(SP)+  ::IS IT TIME FOR FILLER CHARS . ?
(2) 013202 001350 BNE 28 :31F NO GO GET NEXT CHAR.
(5) 013206 016746 166244 MOV $NULL ,=(SP) $3GET # OF FILLER CHARS. NEEDED
(2) ::AND THE NULL CHAR.
¢$> 013210 '05393 000001 78: DECB  1(SP) : *DOES A NULL NEED TO BE TYPED?
(2) 013214 0027 BLT &% $:BR IF NO=--GO POP THE NULL OFF OF STACK
(2) 013213 004767 880032 JSR PC,STYPEC 1560 TYPE A NULL
(2) 013222 105367 000072 DECB  $CHARCNT ::D0 NOT COUNT AS A COUNT
(2) 013226 000770 BR 7% ::LO0P

2)
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14-DEC-82 09:56 PAGE 62-48
TYPE ROUTINE

000052

166162
000002

000002

000014

166024

sHORIZONTAL TAB PROCESSOR

8$: MOVB (SP) : sREPLACE TAB WITH SPACE
$: JSR ; LSTYPEC ::TYPE A SPACE
8178 $CHARCNT ..BRANCH IF NOT AT
BNE ::TAB STOP
ST (sp)+ ::POP SPACE OFF STACK
BR 2% 22GET NEXT CHARACTER
$TYPEC: gg{a 2¥;:§c S:WAIT UNTIL PRINTER IS READY
MOVB  2(SP),asTPB ::LOAD CHAR TO BE TYPED INTO DATA REG.
CMPB  #CR,2(SP) ::1S CHARACTER A CARRIAGE RETURN?
BNE 1$ :BRANCH IF NO
CLRB  SCHARCNT ..YES--CLEAR CHARACTER COUNT
BR $TYPEX SEXIT
18: CMPB  #LF,2(SP) 2i1S CHARACTER A LINE FEED?
BEQ $TYPEX ::BRANCH <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>